Schedule	ENT • A: East Hill Operation Center Phase II	BIDDER'	S	Shoreline Consti	ruction Co.	Scotty's General	l Construction	New West Devel	lopment	SCI Infrastructu	re, LLC	Road Constructio	n Northwest
Schedule	B: 124th Avenue SE Sewer	NAME AN	ND	P.O. BOX 358		20405 SE 344th	St.	P.O. BOX 670		1508 Valentine A	Ave. SE	P.O. BOX 188	
Schedule	C: SE 248th Street Transmission Main	ADDRES	S	Woodinville, WA	98072	Auburn, WA 98	092	Woodinville, WA	98072	Pacific, WA 980	47	Renton, WA 980	57
BID OPE	NING: Tuesday, April 13, 2010	TOTAL			** ** * * * * * * * * * * * * * * * * *		40.000.070.00		40.007.707.04		**********		**********
ITEM		TOTAL			\$1,964,027.59 TOTAL		\$2,082,070.23 TOTAL		\$2,096,707.31 TOTAL		\$2,174,913.64 TOTAL		\$2,200,306.96 TOTAL
NO.	DESCRIPTION	QUANTITY	UNIT	LINIT DDICE		LINIT DDICE		UNIT PRICE		UNIT PRICE		LINIT DDICE	
	LE A - On Site Utilities	QUANTITY	UNII	UNIT PRICE	AMOUNT	UNIT PRICE	AIVIOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AWOUNT	UNIT PRICE	AMOUNT
	LE A - I Street												
1000A		1	LS	\$70,000.00	\$70,000.00	\$20,000.00	\$20,000.00	\$80,800.00	\$80,800.00	\$25,000.00	\$25,000.00	\$110,544.50	\$110,544.50
1001A	Field Trailer	1	LS	\$18,000.00	\$18,000.00	\$14,805.00	\$14,805.00	\$4,000.00	\$4,000.00	\$14,500.00	\$14,500.00	\$17,250.00	\$17,250.00
1005A	Clearing and Grubbing	1	LS	\$1,000.00	\$1,000.00	\$3,500.00	\$3,500.00	\$3,800.00	\$3,800.00	\$3,000.00	\$3,000.00	\$1,900.00	\$1,900.00
1010A*	Remove Existing Asphalt Concrete Pavement	1,000	SY	\$1.00	\$1,000.00	\$2.50	\$2,500.00	\$3.80	\$3,800.00	\$4.25	\$4,250.00	\$2.00	\$2,000.00
1019A	Well Abandonment	1	LS	\$3,000.00	\$3,000.00	\$11,300.00	\$11,300.00	\$2,500.00	\$2,500.00	\$7,300.00	\$7,300.00	\$9,000.00	\$9,000.00
1050A*	Saw Cut Existing Asphalt Concrete Pavement	25	LF	\$0.10	\$2.50	\$1.00	\$25.00	\$2.20	\$55.00	\$5.00	\$125.00	\$2.00	\$50.00
1060A	Roadway Excavation	1,500	CY	\$6.00	\$9,000.00	\$3.00	\$4,500.00	\$7.80	\$11,700.00	\$8.75	\$13,125.00	\$12.25	\$18,375.00
1065A	Unsuitable Material Disposal	5,000	CY	\$3.00	\$15,000.00	\$6.00	\$30,000.00	\$15.50	\$77,500.00	\$7.75	\$38,750.00	\$11.50	\$57,500.00
1080A*	Crushed Surfacing Top Course, 5/8 Inch Minus	250	TON	\$7.00	\$1,750.00	\$16.00	\$4,000.00	\$6.00	\$1,500.00	\$14.50	\$3,625.00	\$6.00	\$1,500.00
1085A*	Crushed Surfacing Base Course, 1-1/4 Inch Minus	350	TON	\$7.00	\$2,450.00	\$16.00	\$5,600.00	\$6.00	\$2,100.00	\$14.50	\$5,075.00	\$6.00	\$2,100.00
1095A*	HMA Class 3/4", PG 64-22	100	TON	\$75.00	\$7,500.00	\$102.00	\$10,200.00	\$90.00	\$9,000.00	\$92.00	\$9,200.00	\$77.00	\$7,700.00
1255A	Remove Fence	1,200	LF	\$2.00	\$2,400.00	\$2.50	\$3,000.00	\$2.40	\$2,880.00	\$3.00	\$3,600.00	\$2.00	\$2,400.00
1256A	Remove Fence and Concrete Mow Strip	200	LF	\$3.00	\$600.00	\$4.75	\$950.00	\$2.80	\$560.00	\$8.00	\$1,600.00	\$10.00	\$2,000.00
1275A	Install New Chain Link Fence	1,200	LF	\$22.00	\$26,400.00	\$26.20	\$31,440.00	\$26.00	\$31,200.00	\$21.00	\$25,200.00	\$21.25	\$25,500.00
1280A	Concrete Mow Strip	1,200	LF	\$3.50	\$4,200.00	\$8.50	\$10,200.00	\$8.50	\$10,200.00	\$4.00	\$4,800.00	\$8.25	\$9,900.00
1370A	Watering	1,000	HR	\$50.00	\$50,000.00	\$48.00	\$48,000.00	\$25.00	\$25,000.00	\$90.00	\$90,000.00	\$20.00	\$20,000.00
1375A	LEED Coordination Manager	1	LS	\$10,000.00	\$10,000.00	\$5,800.00	\$5,800.00	\$4,500.00	\$4,500.00	\$2,000.00	\$2,000.00	\$4,500.00	\$4,500.00
	Sub Total - Schedule A: I Street				\$222,302.50		\$205,820.00		\$271,095.00		\$251,150.00		\$292,219.50
SCHEDUL	E A - II Water												
2019A	Water Service Line, 1 Inch Diameter	160	LF	\$5.00	\$800.00	\$10.50	\$1,680.00	\$13.80	\$2,208.00	\$33.00	\$5,280.00	\$20.00	\$3,200.00
2020A*	6 Inch Diameter Ductile Iron, CI 52 Water Main Pipe		LF	\$35.00	\$3,500.00	\$22.00	\$2,200.00	\$27.40	\$2,740.00	\$55.00	\$5,500.00	\$53.25	\$5,325.00
2025A	8 Inch Diameter Ductile Iron, CI 52 Water Main Pipe	900	LF	\$36.00	\$32,400.00	\$27.00	\$24,300.00	\$26.20	\$23,580.00	\$41.00	\$36,900.00	\$43.50	\$39,150.00
2030A	10 Inch Diameter Ductile Iron, CI 52 Water Main Pip	e 1,050	LF	\$44.00	\$46,200.00	\$30.50	\$32,025.00	\$31.50	\$33,075.00	\$45.00	\$47,250.00	\$51.00	\$53,550.00
2035A*	12 Inch Diameter Ductile Iron, CI 52 Water Main Pip	e 450	LF	\$50.00	\$22,500.00	\$36.00	\$16,200.00	\$45.00	\$20,250.00	\$42.00	\$18,900.00	\$59.00	\$26,550.00
2040A*	4 Inch Gate Valve MJ x FL or MJ x MJ or FL x FL	1	EA	\$500.00	\$500.00	\$895.00	\$895.00	\$725.00	\$725.00	\$800.00	\$800.00	\$575.00	\$575.00
2041A*	6 Inch Gate Valve MJ x FL or MJ x MJ or FL x FL	3	EA	\$600.00	\$1,800.00	\$1,168.00	\$3,504.00	\$1,058.00	\$3,174.00	\$900.00	\$2,700.00	\$675.00	\$2,025.00
2045A*	8 Inch Gate Valve MJ x FL or MJ x MJ or FL x FL	6	EA	\$900.00	\$5,400.00	\$1,397.00	\$8,382.00	\$1,179.00	\$7,074.00	\$1,100.00	\$6,600.00	\$975.00	\$5,850.00
2050A*	10 Inch Gate Valve MJ x FL or MJ x MJ or FL x FL	4	EA	\$1,400.00	\$5,600.00	\$1,880.00	\$7,520.00	\$1,687.00	\$6,748.00	\$1,650.00	\$6,600.00	\$1,425.00	\$5,700.00
2055A*	12 Inch Gate Valve MJ x FL or MJ x MJ or FL x FL	3	EA	\$1,600.00	\$4,800.00	\$2,075.00	\$6,225.00	\$1,943.00	\$5,829.00	\$1,850.00	\$5,550.00	\$1,675.00	\$5,025.00
2080A*	Hydrant Assembly	6	EA	\$4,200.00	\$25,200.00	\$4,200.00	\$25,200.00	\$4,426.00	\$26,556.00	\$3,100.00	\$18,600.00	\$3,750.00	\$22,500.00
2085A	4 Inch Blowoff Assembly	6	EA	\$3,000.00	\$18,000.00	\$1,850.00	\$11,100.00	\$3,211.00	\$19,266.00	\$2,150.00	\$12,900.00	\$2,025.00	\$12,150.00
2086A	16 Inch Blowoff Assembly	1	EA	\$4,000.00	\$4,000.00	\$6,000.00	\$6,000.00	\$11,894.00	\$11,894.00	\$4,300.00	\$4,300.00	\$3,800.00	\$3,800.00
2089A	10 Inch Check Valve and Vault	1	EA	\$16,000.00	\$16,000.00	\$15,980.00	\$15,980.00	\$7,130.00	\$7,130.00	\$11,000.00	\$11,000.00	\$12,500.00	\$12,500.00
2090A*	6 Inch Air Release Valve with Vault	1	EA	\$12,000.00	\$12,000.00	\$9,530.00	\$9,530.00	\$11,857.00	\$11,857.00	\$6,800.00	\$6,800.00	\$9,300.00	\$9,300.00
2093A	12 Inch Check Valve and Vault	1	EA	\$16,000.00	\$16,000.00	\$8,618.00	\$8,618.00	\$8,246.00	\$8,246.00	\$11,000.00	\$11,000.00	\$13,900.00	\$13,900.00
2255A*		11,000	SF	\$0.10	\$1,100.00	\$0.12	\$1,320.00	\$0.10	\$1,100.00	\$0.25	\$2,750.00	\$0.20	\$2,200.00
2280A*	Crushed Surfacing Top Course, 5/8 Inch Minus	1,250	TON	\$7.00	\$8,750.00	\$16.00	\$20,000.00	\$6.00	\$7,500.00	\$14.50	\$18,125.00	\$6.00	\$7,500.00
2290A*	Gravel Borrow, Including Haul and Compaction	2,400	TON	\$2.00	\$4,800.00	\$10.50	\$25,200.00	\$2.50	\$6,000.00	\$12.75	\$30,600.00	\$6.00	\$14,400.00

CITY OF K	ENT			1		2		3		4		5	
Schedule	A: East Hill Operation Center Phase II	BIDDEF	R'S	Shoreline Const	ruction Co.	Scotty's Genera	I Construction	New West Deve	lopment	SCI Infrastructu	ıre, LLC	Road Construction	n Northwest
Schedule	B: 124th Avenue SE Sewer	NAME A	ND	P.O. BOX 358		20405 SE 344th	St.	P.O. BOX 670		1508 Valentine	Ave. SE	P.O. BOX 188	
Schedule	C: SE 248th Street Transmission Main	ADDRE	SS	Woodinville, WA	98072	Auburn, WA 98	092	Woodinville, WA	98072	Pacific, WA 980	047	Renton, WA 980)57
BID OPEN	NING: Tuesday, April 13, 2010												
		TOTAL			\$1,964,027.59		\$2,082,070.23		\$2,096,707.31		\$2,174,913.64		\$2,200,306.96
ITEM					TOTAL	-	TOTAL		TOTAL		TOTAL		TOTA
NO.	DESCRIPTION	QUANTITY	UNIT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUN
	Sub Total - Schedule A: II Water				\$229,350.00		\$225,879.00		\$204,952.00		\$252,155.00		\$245,200.00
SCHEDUL	E A - III Sewer												
3000A	SDR 35 PVC Sewer Pipe, 6 Inch Diameter	275	LF	\$20.00	\$5,500.00	\$21.00	\$5,775.00	\$20.40	\$5,610.00	\$36.00	\$9,900.00	\$44.00	\$12,100.00
3001A	Ductile Iron Sewer Pipe, 6 Inch Diameter	100	LF	\$43.00	\$4,300.00	\$36.00	\$3,600.00	\$41.60	\$4,160.00	\$46.00	\$4,600.00	\$54.00	\$5,400.00
3005A	SDR 35 PVC Sewer Pipe, 8 Inch Diameter	1,400	LF	\$35.00	\$49,000.00	\$42.00	\$58,800.00	\$22.80	\$31,920.00	\$40.00	\$56,000.00	\$46.00	\$64,400.00
3050A*	Manhole Under 12 Feet, Type 1 48 Inch Diameter	7	EA	\$3,000.00	\$21,000.00	\$2,050.00	\$14,350.00	\$2,166.00	\$15,162.00	\$2,350.00	\$16,450.00	\$3,200.00	\$22,400.00
3060A	Manhole 12 Feet to 20 Feet, Type 1 48 Inch Diamet	ter 1	EA	\$5,500.00	\$5,500.00	\$3,000.00	\$3,000.00	\$3,257.00	\$3,257.00	\$2,650.00	\$2,650.00	\$4,100.00	\$4,100.00
3065A	Manhole 12 Feet to 20 Feet, Type 1 54 Inch Diameter, Including	^g 1	EA	\$7,000.00	\$7,000.00	\$3,500.00	\$3,500.00	\$6,062.00	\$6,062.00	\$2,875.00	\$2,875.00	\$5,400.00	\$5,400.00
3085A*	PVC Inside Drop Connection Locking Manhole Frame and Cover	9	EA	\$230.00	\$2,070.00	\$320.00	\$2,880.00	\$225.80	\$2,032.20	\$525.00	\$4,725.00	\$220.00	\$1,980.00
3100A*	Sewer Cleanout	2	EA	\$200.00	\$400.00	\$280.00	\$560.00	\$584.00	\$1,168.00	\$600.00	\$1,200.00	\$270.00	\$540.00
3115A*	Shoring or Extra Excavation, Class B	18,000		\$0.10	\$1,800.00	\$0.12	\$2,160.00	\$0.10	\$1,800.00	\$0.25	\$4,500.00	\$0.20	\$3,600.00
3140A*	Crushed Surfacing Top Course, 5/8 Inch Minus	1,000		\$7.00	\$7,000.00	\$16.00	\$16,000.00	\$6.00	\$6,000.00	\$14.50	\$14,500.00	\$6.00	\$6,000.00
3150A*	Gravel Borrow, Including Haul and Compaction	3,600		\$2.00	\$7,200.00	\$10.50	\$37,800.00	\$2.50	\$9,000.00	\$12.75	\$45,900.00	\$6.00	\$21,600.00
31304	Sub Total - Schedule A: III Sewer	3,000	1011	Ψ2.00	\$110,770.00	\$10.50	\$148,425.00	\$2.50	\$86,171.20	\$12.75	\$163,300.00	\$0.00	\$147,520.00
	E A - IV Storm Sewer												
4010A	C900 PVC Storm Sewer Pipe, 8 Inch Diameter	200	LF	\$26.00	\$5,200.00	\$15.00	\$3,000.00	\$23.60	\$4,720.00	\$32.00	\$6,400.00	\$34.00	\$6,800.00
4015A	SDR 35 PVC Storm Sewer Pipe, 12 Inch Diameter	950	LF	\$25.00	\$23,750.00	\$16.00	\$15,200.00	\$24.70	\$23,465.00	\$32.00	\$30,400.00	\$41.00	\$38,950.00
4016A	C900 PVC Storm Sewer Pipe, 12 Inch Diameter	1,025		\$33.00	\$33,825.00	\$19.00	\$19,475.00	\$35.70	\$36,592.50	\$34.00	\$34,850.00	\$47.00	\$48,175.00
4025A	SDR 35 PVC Storm Sewer Pipe, 18 Inch Diameter	875	LF	\$37.00	\$32,375.00	\$29.00	\$25,375.00	\$40.60	\$35,525.00	\$39.00	\$34,125.00	\$58.00	\$50,750.00
4035A	SDR 35 PVC Storm Sewer Pipe, 24 Inch Diameter	200	LF	\$48.00	\$9,600.00	\$46.00	\$9,200.00	\$67.90	\$13,580.00	\$60.00	\$12,000.00	\$85.00	\$17,000.00
4080A	Catch Basin, Type 1	16	EA	\$900.00	\$14,400.00	\$950.00	\$15,200.00	\$679.00	\$10,864.00	\$900.00	\$14,400.00	\$810.00	\$12,960.00
4085A	Catch Basin, Type 2 48 Inch Diameter	17	EA	\$2,600.00	\$44,200.00	\$1,800.00	\$30,600.00	\$1,736.00	\$29,512.00	\$1,300.00	\$22,100.00	\$2,300.00	\$39,100.00
4090A	Catch Basin, Type 2 54 Inch Diameter	1	EA	\$5,000.00	\$5,000.00	\$2,100.00	\$2,100.00	\$2,575.00	\$2,575.00	\$1,575.00	\$1,575.00	\$3,100.00	\$3,100.00
4095A	Catch Basin, Type 2 72 Inch Diameter	•	EA	\$5,600.00	\$5,600.00	\$2,600.00	\$2,600.00	\$3,045.00	\$3,045.00	\$2,100.00	\$2,100.00	\$4,500.00	\$4,500.00
4120A 4125A	Vaned Directional Catch Basin Frame and Grate Vaned Bi-Directional Catch Basin Frame and Grate	10	EA EA	\$170.00 \$170.00	\$1,700.00	\$245.00	\$2,450.00	\$157.50 \$157.50	\$1,575.00	\$600.00 \$575.00	\$6,000.00	\$155.00 \$155.00	\$1,550.00
		23 1	EA		\$3,910.00	\$245.00	\$5,635.00	7	\$3,622.50	•	\$13,225.00	-	\$3,565.00
4130A	Oil/Water Separator		LF	\$6,000.00	\$6,000.00	\$3,100.00	\$3,100.00	\$2,500.00	\$2,500.00	\$2,725.00	\$2,725.00	\$3,900.00	\$3,900.00
4135A 4150A*	Remove Existing Storm Sewer Pipe or Culvert Shoring or Extra Excavation, Class B	275 14,000		\$2.00 \$0.10	\$550.00 \$1,400.00	\$10.00 \$0.12	\$2,750.00 \$1,680.00	\$9.90 \$0.10	\$2,722.50 \$1,400.00	\$8.00 \$0.25	\$2,200.00 \$3,500.00	\$10.00 \$0.20	\$2,750.00 \$2,800.00
4160A	Light Loose Riprap	14,000	TON	\$50.00	\$500.00	\$25.00	\$1,880.00	\$75.00	\$750.00	\$0.25 \$25.00	\$250.00	\$55.00	\$2,800.00 \$550.00
	Crushed Surfacing Top Course, 5/8 Inch Minus	2,600		\$7.00	\$18,200.00	\$16.00	\$41,600.00	\$6.00	\$15,600.00	\$25.00	\$37,700.00	\$6.00	\$15,600.00
	Gravel Borrow, Including Haul and Compaction	2,200		\$2.00	\$4,400.00	\$10.50	\$23,100.00	\$2.50	\$5,500.00	\$14.50 \$12.75	\$28,050.00	\$6.00	\$13,200.00
4103A	Sub Total - Schedule A: IV Storm Sewer	2,200	1011	Ψ2.00	\$210,610.00	Ψ10.30	\$203,315.00	Ψ2.50	\$193,548.50	\$12.75	\$251,600.00	\$0.00	\$265,250.00
COLIED!"	F.A. Will Tammonomy Engaine & Coding and Co.												
	E A - VII Temporary Erosion & Sedimentaion Co Seeding, Fertilizing, and Mulching	ontroi 1	AC	\$1,700.00	\$1,700.00	\$2,000.00	\$2,000.00	\$1,260.00	\$1,260.00	\$1,600.00	\$1,600.00	\$2,100.00	\$2,100.00
	Silt Fence	700	LF		\$4,200.00			\$1,260.00		\$1,600.00			\$3,010.00
				\$6.00 \$65.00	\$1,300.00	\$4.50	\$3,150.00 \$700.00		\$3,150.00	\$3.50 \$42.00	\$2,450.00 \$840.00	\$4.30	\$3,010.00
/UTUA^	Straw Log Barrier	20	EA	\$65.00	\$1,3UU.UU	\$35.00	\$700.00	\$71.00	\$1,420.00	ı ⊅4∠.UU	\$84U.UU	\$45.00	\$900.UL

laity of K	ENT			1		1 2		1 2		1 .		l -	Ī
CITY OF K	A: East Hill Operation Center Phase II	BIDDEI	פים	Shoreline Const	ruction Co	2 Scotty's Genera	I Construction	3 New West Deve	Jonment	SCI Infrastruct	ure IIC	5 Road Construction	on Northwest
	B: 124th Avenue SE Sewer	NAME A		P.O. BOX 358	ruction co.	20405 SE 344th		P.O. BOX 670	портнети	1508 Valentine		P.O. BOX 188	on Northwest
	C: SE 248th Street Transmission Main	ADDRE		Woodinville, WA	09072	Auburn, WA 98		Woodinville, WA	\ 00072	Pacific, WA 98		Renton, WA 980	15.7
	NING: Tuesday, April 13, 2010	ADDKL	.33	Woodinvine, WA	70072	Aubum, WA 98	072	vvoodiiiville, vv	70072	Facilic, WA 90	047	Remon, WA 300)37
BID OF E	Tillo. Tuesday, April 13, 2010	TOTAL			\$1,964,027.59		\$2,082,070.23		\$2,096,707.31		\$2,174,913.64		\$2,200,306.96
ITEM					TOTAL		TOTAL		TOTAL		TOTAL		TOTAL
NO.	DESCRIPTION	QUANTITY	UNIT	UNIT PRICE		UNIT PRICE		UNIT PRICE		UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
7020A*	Straw Mulch - Hand Applied	500	SY	\$2.00	\$1,000.00	\$1.00	\$500.00	\$1.10	\$550.00	\$2.55	\$1,275.00	\$3.00	\$1,500.00
7025A	Clear Plastic Covering	500	SY	\$5.00	\$2,500.00	\$1.50	\$750.00	\$2.88	\$1,440.00	\$2.00	\$1,000.00	\$3.00	\$1,500.00
7030A*	ESC Lead	600	HR	\$10.00	\$6,000.00	\$10.00	\$6,000.00	\$12.50	\$7,500.00	\$1.00	\$600.00	\$10.00	\$6,000.00
7040A	PVC Swale Liner	100	LF	\$12.00	\$1,200.00	\$25.00	\$2,500.00	\$8.90	\$890.00	\$35.00	\$3,500.00	\$10.00	\$1,000.00
7055A	Erosion/Water Pollution Control	1	FA	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00
7080A	Remove Existing Silt Fence	200	LF	\$2.00	\$400.00	\$2.00	\$400.00	\$4.00	\$800.00	\$1.80	\$360.00	\$1.30	\$260.00
7090A	Erosion Control Blanket	250	SY	\$14.00	\$3,500.00	\$2.50	\$625.00	\$6.00	\$1,500.00	\$3.00	\$750.00	\$2.75	\$687.50
	Sub Total - Schedule A: VII TESC				\$42,000.00		\$37,000.00		\$38,880.00		\$32,700.00		\$37,307.50
001150111	5 B 404U A 950												
	E B - 124th Avenue SE Sewer E B - I Street					1		1		1		1	
1000B	Mobilization	1	LS	\$10,000.00	\$10,000.00	\$11,515.00	\$11,515.00	\$19,400.00	\$19,400.00	\$20,000.00	\$20,000.00	\$10,000.00	\$10,000.00
1010B*	Remove Existing Asphalt Concrete Pavement	900	SY	\$10,000.00	\$900.00	\$2.50	\$2,250.00	\$3.80	\$3,420.00	\$4.25	\$3,825.00	\$2.00	\$1,800.00
	Removal of Raised Pavement Markers and Painted and/or	1		·									
1040B	Thermoplastic Traffic Markings	ı	LS	\$200.00	\$200.00	\$1,100.00	\$1,100.00	\$790.00	\$790.00	\$600.00	\$600.00	\$210.00	\$210.00
1050B*	Saw Cut Existing Asphalt Concrete Pavement	1,600		\$0.10	\$160.00	\$1.00	\$1,600.00	\$2.20	\$3,520.00	\$5.00	\$8,000.00	\$2.00	\$3,200.00
1075B*	Gravel Borrow, Including Haul and Compaction	650	TON	\$2.00	\$1,300.00	\$10.50	\$6,825.00	\$2.50	\$1,625.00	\$12.75	\$8,287.50	\$6.00	\$3,900.00
1080B*	Crushed Surfacing Top Course, 5/8 Inch Minus	100	TON	\$7.00	\$700.00	\$16.00	\$1,600.00	\$6.00	\$600.00	\$14.50	\$1,450.00	\$6.00	\$600.00
1085B*	Crushed Surfacing Base Course, 1-1/4 Inch Minus	300	TON	\$7.00	\$2,100.00	\$16.00	\$4,800.00	\$6.00	\$1,800.00	\$14.50	\$4,350.00	\$6.00	\$1,800.00
1095B*	HMA Class 3/4", PG 64-22	225	TON	\$75.00	\$16,875.00	\$102.00	\$22,950.00	\$90.00	\$20,250.00	\$92.00	\$20,700.00	\$77.00	\$17,325.00
1100B*	HMA Class 1/2" for Full Width Overlay, PG 64-22	400	TON	\$75.00	\$30,000.00	\$83.00	\$33,200.00	\$80.00	\$32,000.00	\$75.00	\$30,000.00	\$74.00	\$29,600.00
1110B*	Cold Planing Bituminous Pavement	400	SY	\$4.00	\$1,600.00	\$6.00	\$2,400.00	\$3.50	\$1,400.00	\$5.00	\$2,000.00	\$5.00	\$2,000.00
1220B	Adjust Existing Catch Basin, Storm Manhole or Sewe		EA	\$300.00	\$600.00	\$375.00	\$750.00	\$657.00	\$1,314.00	\$400.00	\$800.00	\$390.00	\$780.00
1230B	Adjust Existing Valve Box Top Section and Lid to Fin		EA	\$300.00	\$2,100.00	\$300.00	\$2,100.00	\$319.00	\$2,233.00	\$240.00	\$1,680.00	\$230.00	\$1,610.00
1315B*	Pothole Utilities	10	EA	\$300.00	\$3,000.00	\$250.00	\$2,500.00	\$292.00	\$2,920.00	\$200.00	\$2,000.00	\$375.00	\$3,750.00
	Sub Total - Schedule B: Street				\$69,535.00		\$93,590.00		\$91,272.00		\$103,692.50		\$76,575.00
SCHEDUL	E B - III Sewer												
3004B	SDR 35 PVC Sewer Main, 8 Inch Diameter	375	LF	\$35.00	\$13,125.00	\$60.00	\$22,500.00	\$41.10	\$15,412.50	\$40.00	\$15,000.00	\$46.00	\$17,250.00
3006B	C900 PVC Sewer Main, 8 Inch Diameter	450	LF	\$60.00	\$27,000.00	\$64.00	\$28,800.00	\$45.30	\$20,385.00	\$42.00	\$18,900.00	\$46.00	\$20,700.00
3040B	Special Shallow Manhole	1	EA	\$2,000.00	\$2,000.00	\$1,800.00	\$1,800.00	\$2,010.00	\$2,010.00	\$1,750.00	\$1,750.00	\$2,300.00	\$2,300.00
3050B*	Manhole Under 12 Feet, Type 1 48 Inch Diameter	3	EA	\$3,000.00	\$9,000.00	\$2,050.00	\$6,150.00	\$2,166.00	\$6,498.00	\$2,350.00	\$7,050.00	\$3,200.00	\$9,600.00
3085B*	Locking Manhole Frame and Cover	4	EA	\$230.00	\$920.00	\$320.00	\$1,280.00	\$225.80	\$903.20	\$525.00	\$2,100.00	\$220.00	\$880.00
3100B*	Sewer Cleanout	1	EA	\$200.00	\$200.00	\$280.00	\$280.00	\$584.00	\$584.00	\$600.00	\$600.00	\$270.00	\$270.00
3115B*	Shoring or Extra Excavation, Class B	4,500) SF	\$0.10	\$450.00	\$0.12	\$540.00	\$0.10	\$450.00	\$0.25	\$1,125.00	\$0.20	\$900.00
3140B*	Crushed Surfacing Top Course, 5/8 Inch Minus	750	TON	\$7.00	\$5,250.00	\$16.00	\$12,000.00	\$6.00	\$4,500.00	\$14.50	\$10,875.00	\$6.00	\$4,500.00
	Sub Total - Schedule B: III Sewer				\$57,945.00		\$73,350.00		\$50,742.70		\$57,400.00		\$56,400.00
SCHEDUI	E B - V TRAFFIC CONTROL												
5005B*	Traffic Control Labor	180	HR	\$52.00	\$9,360.00	\$40.00	\$7,200.00	\$48.60	\$8,748.00	\$42.00	\$7,560.00	\$45.00	\$8,100.00
5015B*	Traffic Control Supervisor	45	HR	\$55.00	\$2,475.00	\$10.00	\$450.00	\$49.80	\$2,241.00		\$2,250.00	\$45.00	\$2,025.00
5020B	Temporary Traffic Control Devices	1	LS	\$1,000.00	\$1,000.00		\$1,000.00		\$11,241.00		\$700.00		\$6,500.00
1 55255	. Ip. I. da	•	LO	1 4.,500.00	ψ1,000.00	1 4.,500.00	ψ1,000.00	1 + , = 11.00	ψ.1,211.00	1 +700.00	Ψ,00.00	1 \$5,500.00	\$3,000.00

CITY OF K	/ENIT			1 1		2		3		1 4		J 5	
	E A: East Hill Operation Center Phase II	BIDDER	2'9	Shoreline Const	ruction Co	Scotty's General	I Construction	New West Deve	lonment	SCI Infrastructi	ire IIC	Road Constructio	n Northwest
	e B: 124th Avenue SE Sewer	NAME A		P.O. BOX 358	detion co.	20405 SE 344th		P.O. BOX 670	юртнети	1508 Valentine		P.O. BOX 188	II Northwest
	e C: SE 248th Street Transmission Main	ADDRES		Woodinville, WA	08072	Auburn, WA 98		Woodinville, WA	08072	Pacific, WA 980		Renton, WA 980	57
	NING: Tuesday, April 13, 2010	ADDICE	55	Woodiliville, WA	70072	Aubuiti, WA 70	072	Woodinville, WA	70072	l'acilic, WA 300	547	Kenton, WA 900	37
0.2	initio. Tuosuuy, riprii 10, 2010	TOTAL			\$1,964,027.59		\$2,082,070.23		\$2,096,707.31		\$2,174,913.64		\$2,200,306.96
ITEM		-			TOTAL		TOTAL		TOTAL		TOTAL		TOTAL
NO.	DESCRIPTION QU	JANTITY	UNIT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
5035B*	Sequential Arrow Sign (SAS)	15	DAY	\$45.00	\$675.00	\$20.00	\$300.00	\$75.00	\$1,125.00	\$30.00	\$450.00	\$20.00	\$300.00
5075B	Permanent Channelization	1	LS	\$1,000.00	\$1,000.00	\$1,745.00	\$1,745.00	\$4,773.00	\$4,773.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00
	Sub Total - Schedule B: V Traffic Control				\$14,510.00		\$10,695.00		\$28,128.00		\$11,960.00		\$17,925.00
SCHEDUI	LE B - VII TEMPORARY EROSION and SEDIMENT CO	ONTROL											
7005B*	Silt Fence	500	LF	\$6.00	\$3,000.00	\$4.50	\$2,250.00	\$4.50	\$2,250.00	\$3.50	\$1,750.00	\$4.30	\$2,150.00
7010B*	Straw Log Barrier	35	EA	\$65.00	\$2,275.00	\$35.00	\$1,225.00	\$71.00	\$2,485.00	\$42.00	\$1,470.00	\$45.00	\$1,575.00
7015B*	Inlet Protection	7	EA	\$40.00	\$280.00	\$75.00	\$525.00	\$74.00	\$518.00	\$65.00	\$455.00	\$70.00	\$490.00
7030B*	ESC Lead	120	HR	\$10.00	\$1,200.00	\$10.00	\$1,200.00	\$12.50	\$1,500.00	\$1.00	\$120.00	\$10.00	\$1,200.00
7055B	Erosion/Water Pollution Control	1	FA	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00
	Sub Total - Schedule B: VII TESC				\$9,255.00		\$7,700.00		\$9,253.00		\$6,295.00		\$7,915.00
SCHEDUI	LE C - S. 248th Street Transmission Main									1		1	
SCHEDUI	LE C - I Street												
1000C	Mobilization	1	LS	\$75,600.00	\$75,600.00	\$67,100.00	\$67,100.00	\$81,292.00	\$81,292.00	\$25,000.00	\$25,000.00	\$19,000.00	\$19,000.00
1010C*	Remove Existing Asphalt Concrete Pavement	2,000	SY	\$1.00	\$2,000.00	\$2.50	\$5,000.00	\$3.80	\$7,600.00	\$4.25	\$8,500.00	\$2.00	\$4,000.00
1040C	Removal of Raised Pavement Markers and Painted and/or Thermople		LS	\$600.00	\$600.00	\$1,100.00	\$1,100.00	\$790.00	\$790.00	\$650.00	\$650.00	\$600.00	\$600.00
1050C*	Saw Cut Existing Asphalt Concrete Pavement	4,500	LF	\$0.10	\$450.00	\$1.00	\$4,500.00	\$2.20	\$9,900.00	\$5.00	\$22,500.00	\$2.00	\$9,000.00
1070C	Geotextile Fabric, Non-Woven	500	SY	\$6.00	\$3,000.00	\$1.25	\$625.00	\$2.00	\$1,000.00	\$1.00	\$500.00	\$2.10	\$1,050.00
1080C*	Crushed Surfacing Top Course, 5/8 Inch Minus	200	TON	\$7.00	\$1,400.00	\$16.00	\$3,200.00	\$6.00	\$1,200.00	\$14.50	\$2,900.00	\$6.00	\$1,200.00
1085C*	Crushed Surfacing Base Course, 1-1/4 Inch Minus	600	TON	\$7.00	\$4,200.00	\$16.00	\$9,600.00	\$6.00	\$3,600.00	\$14.50	\$8,700.00	\$6.00	\$3,600.00
1095C*	HMA Class 3/4", PG 64-22	500	TON	\$75.00	\$37,500.00	\$102.00	\$51,000.00	\$90.00	\$45,000.00	\$92.00	\$46,000.00	\$77.00	\$38,500.00
1100C*	HMA Class 1/2" for Full Width Overlay, PG 64-22	1,000	TON	\$75.00	\$75,000.00	\$83.00	\$83,000.00	\$80.00	\$80,000.00	\$75.00	\$75,000.00	\$74.00	\$74,000.00
1110C*	Cold Planing Bituminous Pavement	900	SY	\$4.00	\$3,600.00	\$6.00	\$5,400.00	\$3.50	\$3,150.00	\$5.00	\$4,500.00	\$5.00	\$4,500.00
1125C	Cold Plant Mix for Temporary Pavement Patch	50	TON	\$200.00	\$10,000.00	\$95.00	\$4,750.00	\$143.00	\$7,150.00	\$120.00	\$6,000.00	\$115.00	\$5,750.00
1250C	Install New Monument, Case and Cover to Finished Gra	ac 4	EA	\$500.00	\$2,000.00	\$525.00	\$2,100.00	\$434.20	\$1,736.80	\$300.00	\$1,200.00	\$405.00	\$1,620.00
1265C	Remove and Reinstall Wire Fence, with Chain Link Gate	e 50	LF	\$8.00	\$400.00	\$15.00	\$750.00	\$20.00	\$1,000.00	\$20.00	\$1,000.00	\$10.50	\$525.00
1315C*	Pothole Utilities	25	EA	\$300.00	\$7,500.00	\$250.00	\$6,250.00	\$292.00	\$7,300.00	\$200.00	\$5,000.00	\$375.00	\$9,375.00
	Sub Total - Schedule C: I Street				\$223,250.00		\$244,375.00		\$250,718.80		\$207,450.00		\$172,720.00
SCHEDUI	LEC-II Water												
2005C	8 Inch Connection to Existing Water Main	2	EA	\$2,300.00	\$4,600.00	\$3,381.00	\$6,762.00	\$2,405.00	\$4,810.00	\$500.00	\$1,000.00	\$700.00	\$1,400.00
2016C	18 Inch Connection to Existing Water Main	1	EA	\$2,500.00	\$2,500.00	\$2,100.00	\$2,100.00	\$5,144.30	\$5,144.30	\$700.00	\$700.00	\$1,500.00	\$1,500.00
2020C*	6 Inch Diameter Ductile Iron, CI 52 Water Main Pipe	25	LF	\$35.00	\$875.00	\$22.00	\$550.00	\$27.40	\$685.00	\$55.00	\$1,375.00	\$53.25	\$1,331.25
2021C	6 Inch Diameter Ductile Iron, CI 52 Restrained Joint W	'a [.] 75	LF	\$145.00	\$10,875.00	\$35.00	\$2,625.00	\$37.10	\$2,782.50	\$44.00	\$3,300.00	\$61.25	\$4,593.75
2034C	12 Inch Diameter Ductile Iron, CI 52 Restrained Joint \	<i>N</i> 50	LF	\$65.00	\$3,250.00	\$45.00	\$2,250.00	\$72.90	\$3,645.00	\$70.00	\$3,500.00	\$82.25	\$4,112.50
2035C*	•	75	LF	\$50.00	\$3,750.00	\$36.00	\$2,700.00	\$45.00	\$3,375.00	\$42.00	\$3,150.00	\$59.00	\$4,425.00
2036C	16 Inch Diameter Ductile Iron, CI 52 Water Main Pipe	20	LF	\$165.00	\$3,300.00	\$59.00	\$1,180.00	\$78.60	\$1,572.00	\$300.00	\$6,000.00	\$216.00	\$4,320.00
2037C	18 Inch Diameter Ductile Iron, CI 52 Water Main Pipe	800	LF	\$60.00	\$48,000.00	\$64.50	\$51,600.00		\$54,000.00	\$64.00	\$51,200.00	\$80.00	\$64,000.00
2038C	20 Inch Diameter Ductile Iron, CI 52 Water Main Pipe	2,300	LF	\$80.00	\$184,000.00	\$74.50	\$171,350.00	\$102.30	\$235,290.00	\$85.00	\$195,500.00	\$103.00	\$236,900.00

ITY OF KE	NT			1)] 3		4		J 5	
	A: East Hill Operation Center Phase II	BIDDER	'S	Shoreline Constr	uction Co.	Scotty's General	Construction	New West Devel	opment	SCI Infrastructu	re, LLC	Road Constructio	n Northwest
chedule	B: 124th Avenue SE Sewer	NAME A		P.O. BOX 358		20405 SE 344th		P.O. BOX 670		1508 Valentine		P.O. BOX 188	
chedule	C: SE 248th Street Transmission Main	ADDRES	SS	Woodinville, WA	98072	Auburn, WA 980	092	Woodinville, WA	98072	Pacific, WA 980	47	Renton, WA 980	57
ID OPEN	ING: Tuesday, April 13, 2010												
		TOTAL			\$1,964,027.59		\$2,082,070.23		\$2,096,707.31		\$2,174,913.64		\$2,200,306.96
EM					TOTAL		TOTAL		TOTAL		TOTAL		TOTA
0.	DESCRIPTION QU	JANTITY	UNIT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUN
2039C	20 Inch Diameter Ductile Iron CL 52 Restrained Joint ${\tt V}$	N: 950	LF	\$100.00	\$95,000.00	\$90.00	\$85,500.00	\$106.80	\$101,460.00	\$100.00	\$95,000.00	\$114.50	\$108,775.00
2040C*	4 Inch Gate Valve MJ x FL or MJ x MJ or FL x FL	1	EA	\$500.00	\$500.00	\$895.00	\$895.00	\$725.00	\$725.00	\$800.00	\$800.00	\$575.00	\$575.00
2041C*	6 Inch Gate Valve MJ x FL or MJ x MJ or FL x FL	5	EA	\$600.00	\$3,000.00	\$1,168.00	\$5,840.00	\$1,058.00	\$5,290.00	\$900.00	\$4,500.00	\$675.00	\$3,375.00
045C*	8 Inch Gate Valve MJ x FL or MJ x MJ or FL x FL	1	EA	\$900.00	\$900.00	\$1,397.00	\$1,397.00	\$1,179.00	\$1,179.00	\$1,100.00	\$1,100.00	\$975.00	\$975.00
:050C*	10 Inch Gate Valve MJ x FL or MJ x MJ or FL x FL	4	EA	\$1,400.00	\$5,600.00	\$1,880.00	\$7,520.00	\$1,687.00	\$6,748.00	\$1,650.00	\$6,600.00	\$1,425.00	\$5,700.00
2055C*	12 Inch Gate Valve MJ x FL or MJ x MJ or FL x FL	7	EA	\$1,600.00	\$11,200.00	\$2,075.00	\$14,525.00	\$1,943.00	\$13,601.00	\$1,850.00	\$12,950.00	\$1,675.00	\$11,725.00
2056C	16 Inch Gate Valve MJ x FL or MJ x MJ or FL x FL	1	EA	\$5,400.00	\$5,400.00	\$7,670.00	\$7,670.00	\$5,431.00	\$5,431.00	\$6,250.00	\$6,250.00	\$78.25	\$78.25
2057C	16 Inch Butterfly Valve MJ x FL or MJ x MJ or FL x FL	2	EA	\$2,000.00	\$4,000.00	\$2,725.00	\$5,450.00	\$2,392.00	\$4,784.00	\$2,500.00	\$5,000.00	\$2,900.00	\$5,800.00
080C*	Hydrant Assembly	2	EA	\$4,200.00	\$8,400.00	\$4,200.00	\$8,400.00	\$4,426.00	\$8,852.00	\$3,100.00	\$6,200.00	\$3,750.00	\$7,500.00
2087C	16 Inch Blowoff Assembly with 6 Inch Bypass Valve As	3S) 1	EA	\$35,000.00	\$35,000.00	\$43,101.00	\$43,101.00	\$46,398.00	\$46,398.00	\$35,800.00	\$35,800.00	\$45,000.00	\$45,000.00
2088C	6 Inch Bypass Valve Assembly	1	EA	\$25,000.00	\$25,000.00	\$37,200.00	\$37,200.00	\$24,934.00	\$24,934.00	\$18,500.00	\$18,500.00	\$20,600.00	\$20,600.00
2090C*	6 Inch Air Release Valve with Vault	1	EA	\$12,000.00	\$12,000.00	\$9,530.00	\$9,530.00	\$11,857.00	\$11,857.00	\$6,800.00	\$6,800.00	\$9,300.00	\$9,300.00
2091C	Remove Air Release Valve and Manhole	1	EA	\$400.00	\$400.00	\$1,700.00	\$1,700.00	\$1,950.00	\$1,950.00	\$600.00	\$600.00	\$800.00	\$800.00
2092C	Sediment Flush Assembly	2	EA	\$6,500.00	\$13,000.00	\$3,570.00	\$7,140.00	\$6,991.00	\$13,982.00	\$2,000.00	\$4,000.00	\$5,400.00	\$10,800.00
2094C	16 Inch Check Valve and Vault	1	EA	\$20,000.00	\$20,000.00	\$18,325.00	\$18,325.00	\$17,907.00	\$17,907.00	\$16,500.00	\$16,500.00	\$17,800.00	\$17,800.00
2100C	Remove Existing Fire Hydrant Assembly	1	EA	\$460.00	\$460.00	\$2,000.00	\$2,000.00	\$1,500.00	\$1,500.00	\$600.00	\$600.00	\$450.00	\$450.00
2115C	Abandon Existing 8 Inch Water Main	2	EA	\$1,500.00	\$3,000.00	\$1,350.00	\$2,700.00	\$1,500.00	\$3,000.00	\$500.00	\$1,000.00	\$300.00	\$600.00
255C*	Shoring or Extra Excavation, Class B	30,000	SF	\$0.10	\$3,000.00	\$0.12	\$3,600.00	\$0.10	\$3,000.00	\$0.25	\$7,500.00	\$0.20	\$6,000.00
2280C*	Crushed Surfacing Top Course, 5/8 Inch Minus	1,800	TON	\$7.00	\$12,600.00	\$16.00	\$28,800.00	\$6.00	\$10,800.00	\$14.50	\$26,100.00	\$6.00	\$10,800.00
2290C*	Gravel Borrow, Including Haul and Compaction	5,500	TON	\$2.00	\$11,000.00	\$10.50	\$57,750.00	\$2.50	\$13,750.00	\$12.75	\$70,125.00	\$6.00	\$33,000.00
	Sub Total - Schedule C: II Water				\$530,610.00		\$590,160.00		\$608,451.80		\$591,650.00		\$622,235.75
HEDUL	E C - V Traffic Control												
005C*	Traffic Control Labor	550	HR	\$52.00	\$28,600.00	\$40.00	\$22,000.00	\$48.60	\$26,730.00	\$42.00	\$23,100.00	\$45.00	\$24,750.00
015C*	Traffic Control Supervisor	150	HR	\$55.00	\$8,250.00	\$10.00	\$1,500.00	\$49.80	\$7,470.00	\$50.00	\$7,500.00	\$45.00	\$6,750.00
5020C	Temporary Traffic Control Devices	1	LS	\$1,000.00	\$1,000.00	\$5,000.00	\$5,000.00	\$10,263.00	\$10,263.00	\$500.00	\$500.00	\$4,500.00	\$4,500.00
5030C	Portable Changeable Message Sign (PCMS)	45	DAY	\$50.00	\$2,250.00	\$80.00	\$3,600.00	\$119.00	\$5,355.00	\$20.00	\$900.00	\$75.00	\$3,375.00
5035C*	Sequential Arrow Sign (SAS)	45	DAY	\$45.00	\$2,025.00	\$20.00	\$900.00	\$75.00	\$3,375.00	\$30.00	\$1,350.00	\$20.00	\$900.00
5075C	Permanent Channelization	1	LS	\$2,800.00	\$2,800.00	\$3,500.00	\$3,500.00	\$1,423.20	\$1,423.20	\$3,600.00	\$3,600.00	\$2,600.00	\$2,600.00
	Sub Total - Schedule C: V Traffic Control				\$44,925.00		\$36,500.00		\$54,616.20		\$36,950.00		\$42,875.00
CHEDUL	E C - VII Temporary Erosion and Sedimentation C	ontrol											
	Silt Fence	1,700	LF	\$6.00	\$10,200.00	\$4.50	\$7,650.00	\$4.50	\$7,650.00	\$3.50	\$5,950.00	\$4.30	\$7,310.00
7010C*	Straw Log Barrier	50	EA	\$65.00	\$3,250.00	\$35.00	\$1,750.00	\$71.00	\$3,550.00	\$42.00	\$2,100.00	\$45.00	\$2,250.00
	Inlet Protection	3	EA	\$40.00	\$120.00	\$75.00	\$225.00	\$74.00	\$222.00	\$65.00	\$195.00	\$70.00	\$210.00
7020C*	Straw Mulch - Hand Applied	500	SY	\$2.00	\$1,000.00	\$1.00	\$500.00	\$1.10	\$550.00	\$2.55	\$1,275.00	\$3.00	\$1,500.00
7030C*	ESC Lead	400	HR	\$10.00	\$4,000.00	\$10.00	\$4,000.00	\$12.50	\$5,000.00	\$1.00	\$400.00	\$10.00	\$4,000.00
7055C	Erosion/Water Pollution Control	1	FA	\$10,000.00	\$10,000.00	\$10,500.00	\$10,500.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00
	Sub Total - Schedule C: VII TESC				\$28,570.00		\$24,625.00		\$26,972.00		\$19,920.00		\$25,270.00

CITY OF	KENT		1		2	3	4	5
Schedu	lle A: East Hill Operation Center Phase II	BIDDER'S	Shoreline Constru	uction Co.	Scotty's General Construction	New West Development	SCI Infrastructure, LLC	Road Construction Northwest
Schedu	lle B: 124th Avenue SE Sewer	NAME AND	P.O. BOX 358		20405 SE 344th St.	P.O. BOX 670	1508 Valentine Ave. SE	P.O. BOX 188
Schedu	lle C: SE 248th Street Transmission Main	ADDRESS	Woodinville, WA	98072	Auburn, WA 98092	Woodinville, WA 98072	Pacific, WA 98047	Renton, WA 98057
BID OP	ENING: Tuesday, April 13, 2010							
		TOTAL		\$1,964,027.59	\$2,082,070.23	\$2,096,707.31	\$2,174,913.64	\$2,200,306.96
ITEM				TOTAL	TOTAL	TOTAL	. TOTAL	TOTAL
NO.	DESCRIPTION	QUANTITY UNIT	UNIT PRICE	AMOUNT	UNIT PRICE AMOUN	UNIT PRICE AMOUNT	UNIT PRICE AMOUNT	UNIT PRICE AMOUNT
SUMMA	ARY: Schedule A, B and C TOTALS							
	SCHEDULE A - Kent East Hill Operation Ce	nter Phase II						
	Schedule A - I Street			\$222,302.50	\$205,820.00	\$271,095.00	\$251,150.00	\$292,219.50
	Schedule A - II Water			\$229,350.00	\$225,879.00	\$204,952.00	\$252,155.00	\$245,200.00
	Schedule A - III Sewer			\$110,770.00	\$148,425.00	\$86,171.20	\$163,300.00	\$147,520.00
	Schedule A - IV Storm Sewer			\$210,610.00	\$203,315.00	\$193,548.50	\$251,600.00	\$265,250.00
	Schedule A - VII TESC			\$42,000.00	\$37,000.00	\$38,880.00	\$32,700.00	\$37,307.50
	SCHDULE B 124th Avenue SE Sewer							
	Schedule B - I Street			\$69,535.00	\$93,590.00	\$91,272.00	\$103,692.50	\$76,575.00
	Schedule B - III Sewer			\$57,945.00	\$73,350.00	\$50,742.70	\$57,400.00	\$56,400.00
	Schedule B - V Traffic Control			\$14,510.00	\$10,695.00	\$28,128.00	\$11,960.00	\$17,925.00
	Schedule B - VII TESC			\$9,255.00	\$7,700.00	\$9,253.00	\$6,295.00	\$7,915.00
	SCHEDULE C - S. 248th Transmission Mair	1						
	Schedule C - I Street			\$223,250.00	\$244,375.00	\$250,718.80	\$207,450.00	\$172,720.00
	Schedule C - II Water			\$530,610.00	\$590,160.00	\$608,451.80	\$591,650.00	\$622,235.75
	Schedule C - V Traffic Control			\$44,925.00	\$36,500.00	\$54,616.20	\$36,950.00	\$42,875.00
	Schedule C - VII TESC			\$28,570.00	\$24,625.00	\$26,972.00	\$19,920.00	\$25,270.00
	Sub total			\$1,793,632.50	\$1,901,434.00	\$1,914,801.20	\$1,986,222.50	\$2,009,412.75
	9.5% sales tax			\$170,395.09	\$180,636.23	\$181,906.11	\$188,691.14	\$190,894.21
CONST	RUCTION CONTRACT TOTAL			\$1,964,027.59	\$2,082,070.23	\$2,096,707.31	\$2,174,913.64	\$2,200,306.96

Ісіту оғ кі	ENT			6		J 7		8		l 9		10	
	A: East Hill Operation Center Phase II	BIDDER	r'S	Johansen Excav	ating. Inc.	Mountain West 0	Construction	Kar-Vel Construction	1	DPK, Inc.		Olson Bros. Exc	avating. Inc.
	B: 124th Avenue SE Sewer	NAME A		P.O. BOX 674	ating, me	713 Bay Street 7		P.O. BOX 58275	•	7829 S. 206th St.		6622 - 112th St	-
	C: SE 248th Street Transmission Main	ADDRE:		Buckley, WA 98	3321	Port Orchard, W.		Renton, WA 98058		Kent, WA 98032		Puyallup, WA 9	
	VING: Tuesday, April 13, 2010	ADDICE	33	Buckley, WA 90	JJZ 1	Tort Orchard, W	A 70300	Remon, WA 70030		Kent, WA 70032		l uyanup, WA 2	0373
DID OI LI	Tuesday, April 13, 2010	TOTAL			\$2,250,080.46		\$2,395,731.28		\$2,585,242.98		\$2,698,589.18		\$2,821,524.83
ITEM					TOTAL		TOTAL		TOTAL		TOTAL		TOTAL
NO.	DESCRIPTION	QUANTITY	UNIT	UNIT PRICE		UNIT PRICE		UNIT PRICE		UNIT PRICE		UNIT PRICE	AMOUNT
	E A - On Site Utilities	207.11111	0	0	7	0	7	0	7	0	7	0	7
	E A - I Street												
1000A	Mobilization	1	LS	\$23,850.00	\$23,850.00	\$51,790.00	\$51,790.00	\$130,000.00	\$130,000.00	\$81,000.00	\$81,000.00	\$25,000.00	\$25,000.00
1001A	Field Trailer	1	LS	\$6,950.00	\$6,950.00	\$11,300.00	\$11,300.00	\$15,000.00	\$15,000.00	\$25,000.00	\$25,000.00	\$10,000.00	\$10,000.00
1005A	Clearing and Grubbing	1	LS	\$1,600.00	\$1,600.00	\$23,200.00	\$23,200.00	\$8,000.00	\$8,000.00	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00
1010A*	Remove Existing Asphalt Concrete Pavement	1,000	SY	\$6.00	\$6,000.00	\$4.64	\$4,640.00	\$3.00	\$3,000.00	\$3.00	\$3,000.00	\$3.50	\$3,500.00
1019A	Well Abandonment	1	LS	\$11,100.00	\$11,100.00	\$6,100.00	\$6,100.00	\$5,000.00	\$5,000.00	\$2,550.00	\$2,550.00	\$3,000.00	\$3,000.00
1050A*	Saw Cut Existing Asphalt Concrete Pavement	25	LF	\$2.25	\$56.25	\$4.40	\$110.00	\$1.50	\$37.50	\$2.00	\$50.00	\$2.00	\$50.00
1060A	Roadway Excavation	1,500	CY	\$9.50	\$14,250.00	\$28.40	\$42,600.00	\$1.00	\$1,500.00	\$14.00	\$21,000.00	\$5.00	\$7,500.00
1065A	Unsuitable Material Disposal	5,000	CY	\$12.15	\$60,750.00	\$7.06	\$35,300.00	\$1.00	\$5,000.00	\$5.00	\$25,000.00	\$16.00	\$80,000.00
1080A*	Crushed Surfacing Top Course, 5/8 Inch Minus	250	TON	\$14.25	\$3,562.50	\$11.56	\$2,890.00	\$6.00	\$1,500.00	\$15.00	\$3,750.00	\$20.00	\$5,000.00
1085A*	Crushed Surfacing Base Course, 1-1/4 Inch Minus	350	TON	\$15.00	\$5,250.00	\$18.07	\$6,324.50	\$6.00	\$2,100.00	\$15.00	\$5,250.00	\$24.00	\$8,400.00
1095A*	HMA Class 3/4", PG 64-22	100	TON	\$95.35	\$9,535.00	\$85.39	\$8,539.00	\$130.00	\$13,000.00	\$100.00	\$10,000.00	\$120.00	\$12,000.00
1255A	Remove Fence	1,200	LF	\$2.15	\$2,580.00	\$2.22	\$2,664.00	\$2.50	\$3,000.00	\$5.00	\$6,000.00	\$3.00	\$3,600.00
1256A	Remove Fence and Concrete Mow Strip	200	LF	\$10.65	\$2,130.00	\$2.11	\$422.00	\$10.00	\$2,000.00	\$12.00	\$2,400.00	\$3.50	\$700.00
1275A	Install New Chain Link Fence	1,200	LF	\$21.80	\$26,160.00	\$22.64	\$27,168.00	\$24.00	\$28,800.00	\$22.00	\$26,400.00	\$26.00	\$31,200.00
1280A	Concrete Mow Strip	1,200	LF	\$8.00	\$9,600.00	\$10.96	\$13,152.00	\$5.00	\$6,000.00	\$11.00	\$13,200.00	\$20.00	\$24,000.00
1370A	Watering	1,000	HR	\$92.50	\$92,500.00	\$113.40	\$113,400.00	\$80.00	\$80,000.00	\$55.00	\$55,000.00	\$85.00	\$85,000.00
1375A	LEED Coordination Manager	1	LS	\$2,300.00	\$2,300.00	\$11,035.00	\$11,035.00	\$7,000.00	\$7,000.00	\$500.00	\$500.00	\$3,000.00	\$3,000.00
	Sub Total - Schedule A: I Street				\$278,173.75		\$360,634.50		\$310,937.50		\$283,100.00		\$304,950.00
SCHEDUL	.E A - II Water												
		160	LF	\$5.50	\$880.00	\$11.13	\$1,780.80	\$14.00	\$2,240.00	\$27.00	\$4,320.00	\$20.00	\$3,200.00
2020A*	6 Inch Diameter Ductile Iron, CI 52 Water Main Pipe		LF	\$40.00	\$4,000.00	\$20.70	\$2,070.00	\$39.00	\$3,900.00	\$75.00	\$7,500.00	\$45.00	\$4,500.00
2025A	8 Inch Diameter Ductile Iron, CI 52 Water Main Pipe		LF	\$26.25	\$23,625.00	\$21.20	\$19,080.00	\$43.00	\$38,700.00	\$45.00	\$40,500.00	\$50.00	\$45,000.00
2030A	10 Inch Diameter Ductile Iron, CI 52 Water Main Pi	pe 1,050	LF	\$29.50	\$30,975.00	\$38.30	\$40,215.00	\$48.00	\$50,400.00	\$50.00	\$52,500.00	\$55.00	\$57,750.00
2035A*	12 Inch Diameter Ductile Iron, CI 52 Water Main Pi	pe 450	LF	\$37.00	\$16,650.00	\$61.75	\$27,787.50	\$75.00	\$33,750.00	\$70.00	\$31,500.00	\$60.00	\$27,000.00
2040A*	4 Inch Gate Valve MJ x FL or MJ x MJ or FL x FL	1	EA	\$830.00	\$830.00	\$440.00	\$440.00	\$700.00	\$700.00	\$500.00	\$500.00	\$900.00	\$900.00
2041A*	6 Inch Gate Valve MJ x FL or MJ x MJ or FL x FL	3	EA	\$955.00	\$2,865.00	\$628.00	\$1,884.00	\$800.00	\$2,400.00	\$600.00	\$1,800.00	\$1,200.00	\$3,600.00
2045A*	8 Inch Gate Valve MJ x FL or MJ x MJ or FL x FL	6	EA	\$1,200.00	\$7,200.00	\$900.00	\$5,400.00	\$1,200.00	\$7,200.00	\$900.00	\$5,400.00	\$1,250.00	\$7,500.00
2050A*	10 Inch Gate Valve MJ x FL or MJ x MJ or FL x FL	4	EA	\$1,660.00	\$6,640.00	\$1,385.00	\$5,540.00	\$1,600.00	\$6,400.00	\$1,300.00	\$5,200.00	\$1,800.00	\$7,200.00
		3	EA	\$1,895.00	\$5,685.00	\$1,585.00	\$4,755.00	\$2,000.00	\$6,000.00	\$1,600.00	\$4,800.00	\$2,100.00	\$6,300.00
	Hydrant Assembly	6	EA	\$5,850.00	\$35,100.00	\$4,285.00	\$25,710.00	The state of the s	\$24,000.00	\$4,500.00	\$27,000.00	\$4,200.00	\$25,200.00
2085A	4 Inch Blowoff Assembly	6	EA	\$3,050.00	\$18,300.00	\$2,050.00	\$12,300.00		\$13,800.00	\$3,000.00	\$18,000.00	\$2,800.00	\$16,800.00
2086A	16 Inch Blowoff Assembly	1	EA	\$2,825.00	\$2,825.00	\$4,870.00	\$4,870.00	\$4,500.00	\$4,500.00	\$4,500.00	\$4,500.00	\$13,000.00	\$13,000.00
2089A	10 Inch Check Valve and Vault	1	EA	\$13,000.00	\$13,000.00	\$14,415.00	\$14,415.00	\$20,000.00	\$20,000.00	\$9,000.00	\$9,000.00	\$12,000.00	\$12,000.00
2090A*	6 Inch Air Release Valve with Vault	1	EA	\$12,365.00	\$12,365.00	\$7,615.00	\$7,615.00	\$14,000.00	\$14,000.00	\$15,000.00	\$15,000.00	\$8,000.00	\$8,000.00
2093A	12 Inch Check Valve and Vault	1	EA	\$13,750.00	\$13,750.00	\$15,415.00	\$15,415.00	\$22,000.00	\$22,000.00	\$13,000.00	\$13,000.00	\$12,500.00	\$12,500.00
2255A*	Shoring or Extra Excavation, Class B	11,000) SF	\$0.15	\$1,650.00	\$0.65	\$7,150.00	\$0.01	\$110.00	\$0.10	\$1,100.00	\$0.50	\$5,500.00
2280A*	Crushed Surfacing Top Course, 5/8 Inch Minus	1,250	TON	\$14.25	\$17,812.50	\$11.56	\$14,450.00	\$6.00	\$7,500.00	\$15.00	\$18,750.00	\$20.00	\$25,000.00
1	Gravel Borrow, Including Haul and Compaction	2,400	TON	\$12.00	\$28,800.00	\$10.18	\$24,432.00	\$2.00	\$4,800.00	\$11.00	\$26,400.00	\$16.00	\$38,400.00

CITY OF K		D		6		7		8		9		10	
	A: East Hill Operation Center Phase II	BIDDER		Johansen Excav	ating, Inc.	Mountain West C		Kar-Vel Construction		DPK, Inc.		Olson Bros. Exc	0
	B: 124th Avenue SE Sewer	NAME A		P.O. BOX 674		713 Bay Street #		P.O. BOX 58275		7829 S. 206th St.		6622 - 112th St	
	C: SE 248th Street Transmission Main	ADDRES	SS	Buckley, WA 98	3321	Port Orchard, WA	A 98366	Renton, WA 98058		Kent, WA 98032		Puyallup, WA 9	8373
BID OPE	NING: Tuesday, April 13, 2010	TOTAL			¢2.2E0.000.44		¢2 205 721 20		¢2 E0E 242 00		¢2.400.E00.10		¢2 021 E24 C
ITEM		TOTAL		+	\$2,250,080.46 TOTAL		\$2,395,731.28 TOTAL		\$2,585,242.98 TOTAL		\$2,698,589.18 TOTAL		\$2,821,524.8 TOT
NO.	DESCRIPTION	QUANTITY	UNIT	UNIT PRICE		UNIT PRICE		UNIT PRICE		UNIT PRICE		UNIT PRICE	AMOU
1 0.	Sub Total - Schedule A: II Water	QUANTITI	UNIT	UNIT FRICE	\$242,952.50	UNIT FRICE	\$235,309.30	ONTI FRICE	\$262,400.00	ONIT FRICE	\$286,770.00	ONIT FRICE	\$319,350.0
					, , , , , , , , , , , , , , , , , , , ,		,,		, , , , , , , , , , , , , , , , , , , ,		, ,		, , , , , , , , , , , , , , , , , , , ,
	LE A - III Sewer												
3000A	SDR 35 PVC Sewer Pipe, 6 Inch Diameter	275	LF	\$29.20	\$8,030.00	\$14.40	\$3,960.00	\$45.00	\$12,375.00	\$80.00	\$22,000.00	\$52.00	\$14,300.0
3001A	Ductile Iron Sewer Pipe, 6 Inch Diameter	100	LF	\$43.85	\$4,385.00		\$1,830.00	\$48.00	\$4,800.00	\$85.00	\$8,500.00	\$68.00	\$6,800.0
3005A	SDR 35 PVC Sewer Pipe, 8 Inch Diameter	1,400	LF	\$25.25	\$35,350.00	\$15.14	\$21,196.00	\$58.00	\$81,200.00	\$85.00	\$119,000.00	\$50.00	\$70,000.0
3050A*	Manhole Under 12 Feet, Type 1 48 Inch Diameter	7	EA	\$1,800.00	\$12,600.00	\$3,110.00	\$21,770.00	\$4,000.00	\$28,000.00	\$2,500.00	\$17,500.00	\$2,200.00	\$15,400.0
3060A	Manhole 12 Feet to 20 Feet, Type 1 48 Inch Diame		EA	\$2,700.00	\$2,700.00	\$4,045.00	\$4,045.00	\$5,000.00	\$5,000.00	\$3,500.00	\$3,500.00	\$2,500.00	\$2,500.0
3065A	Manhole 12 Feet to 20 Feet, Type 1 54 Inch Diameter, Includin PVC Inside Drop Connection	⁹ 1	EA	\$5,100.00	\$5,100.00	\$5,100.00	\$5,100.00	\$5,500.00	\$5,500.00	\$4,000.00	\$4,000.00	\$4,000.00	\$4,000.0
3085A*	Locking Manhole Frame and Cover	9	EA	\$275.00	\$2,475.00	\$330.00	\$2,970.00	\$400.00	\$3,600.00	\$500.00	\$4,500.00	\$500.00	\$4,500.0
3100A*	Sewer Cleanout	2	EA	\$195.00	\$390.00	\$300.00	\$600.00	\$800.00	\$1,600.00	\$350.00	\$700.00	\$450.00	\$900.0
3115A*	Shoring or Extra Excavation, Class B	18,000	SF	\$0.15	\$2,700.00	\$0.65	\$11,700.00	\$0.01	\$180.00	\$0.10	\$1,800.00	\$0.50	\$9,000.0
3140A*	Crushed Surfacing Top Course, 5/8 Inch Minus	1,000	TON	\$14.25	\$14,250.00	\$11.56	\$11,560.00	\$6.00	\$6,000.00	\$15.00	\$15,000.00	\$20.00	\$20,000.0
3150A*	Gravel Borrow, Including Haul and Compaction	3,600	TON	\$12.00	\$43,200.00	\$10.18	\$36,648.00	\$2.00	\$7,200.00	\$11.00	\$39,600.00	\$16.00	\$57,600.0
	Sub Total - Schedule A: III Sewer				\$131,180.00		\$121,379.00		\$155,455.00		\$236,100.00		\$205,000.0
	54 11/0												
	LE A - IV Storm Sewer			404.75	*	****	44.540.00	400.00	*/ 000 00	***	*/ ***	***	+0.000.0
4010A	C900 PVC Storm Sewer Pipe, 8 Inch Diameter	200	LF	\$21.75	\$4,350.00	\$32.70	\$6,540.00	\$30.00	\$6,000.00	\$30.00	\$6,000.00	\$40.00	\$8,000.0
4015A	SDR 35 PVC Storm Sewer Pipe, 12 Inch Diameter	950	LF	\$25.65	\$24,367.50	\$24.20	\$22,990.00	\$40.00	\$38,000.00	\$40.00	\$38,000.00	\$40.00	\$38,000.0
4016A	C900 PVC Storm Sewer Pipe, 12 Inch Diameter	1,025	LF	\$34.40	\$35,260.00	\$31.95	\$32,748.75	\$43.00	\$44,075.00	\$45.00	\$46,125.00	\$43.00	\$44,075.0
4025A	SDR 35 PVC Storm Sewer Pipe, 18 Inch Diameter	875	LF	\$36.65	\$32,068.75		\$33,950.00	\$49.00	\$42,875.00	\$60.00	\$52,500.00	\$55.00	\$48,125.0
4035A	SDR 35 PVC Storm Sewer Pipe, 24 Inch Diameter	200	LF	\$52.00	\$10,400.00		\$11,140.00	\$80.00	\$16,000.00	\$80.00	\$16,000.00	\$75.00	\$15,000.0
4080A	Catch Basin, Type 1	16	EA	\$615.00	\$9,840.00		\$14,336.00	\$1,500.00	\$24,000.00	\$800.00	\$12,800.00	\$800.00	\$12,800.0
4085A	Catch Basin, Type 2 48 Inch Diameter	17	EA	\$1,775.00	\$30,175.00	\$2,150.00	\$36,550.00	\$2,500.00	\$42,500.00	\$1,100.00	\$18,700.00	\$1,800.00	\$30,600.0
4090A	Catch Basin, Type 2 54 Inch Diameter	1	EA	\$2,650.00	\$2,650.00	\$2,442.00	\$2,442.00	\$3,500.00	\$3,500.00	\$1,400.00	\$1,400.00	\$2,300.00	\$2,300.0
4095A	Catch Basin, Type 2 72 Inch Diameter	1	EA	\$3,700.00	\$3,700.00	\$3,125.00	\$3,125.00	\$4,000.00	\$4,000.00	\$2,500.00	\$2,500.00	\$3,500.00	\$3,500.0
4120A	Vaned Directional Catch Basin Frame and Grate	10	EA	\$205.00	\$2,050.00		\$3,680.00	\$200.00	\$2,000.00	\$400.00	\$4,000.00	\$500.00	\$5,000.0
4125A	Vaned Bi-Directional Catch Basin Frame and Grate	23	EA	\$205.00	\$4,715.00		\$8,464.00	\$200.00	\$4,600.00	\$400.00	\$9,200.00	\$500.00	\$11,500.0
4130A	Oil/Water Separator	1	EA	\$2,700.00	\$2,700.00	\$4,575.00	\$4,575.00	\$6,000.00	\$6,000.00	\$10,000.00	\$10,000.00	\$4,000.00	\$4,000.0
4135A	Remove Existing Storm Sewer Pipe or Culvert	275	LF	\$4.00	\$1,100.00	\$1.80	\$495.00	\$10.00	\$2,750.00	\$9.00	\$2,475.00	\$5.00	\$1,375.0
4150A*	Shoring or Extra Excavation, Class B	14,000	SF	\$0.15	\$2,100.00		\$9,100.00	\$0.01	\$140.00	\$0.10	\$1,400.00	\$0.50	\$7,000.0
	Light Loose Riprap	10	TON	\$52.50	\$525.00		\$290.00	\$16.00	\$160.00	\$35.00	\$350.00	\$30.00	\$300.0
	Crushed Surfacing Top Course, 5/8 Inch Minus	2,600	TON	\$14.25	\$37,050.00		\$30,056.00	\$6.00	\$15,600.00	\$15.00	\$39,000.00	\$20.00	\$52,000.0
4185A*		2,200	TON	\$12.00	\$26,400.00	\$10.18	\$22,396.00	\$2.00	\$4,400.00	\$11.00	\$24,200.00	\$16.00	\$35,200.0
	Sub Total - Schedule A: IV Storm Sewer				\$229,451.25		\$242,877.75		\$256,600.00		\$284,650.00		\$318,775.0
SCHEDUL	E A - VII Temporary Erosion & Sedimentaion Co	ontrol											
7000A	Seeding, Fertilizing, and Mulching	1	AC	\$1,900.00	\$1,900.00	\$1,660.00	\$1,660.00	\$1,200.00	\$1,200.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.0
7005A*	Silt Fence	700	LF	\$3.35	\$2,345.00	\$3.55	\$2,485.00	\$4.00	\$2,800.00	\$7.00	\$4,900.00	\$5.00	\$3,500.0
7010A*	Straw Log Barrier	20	EA	\$42.00	\$840.00		\$5,640.00	\$50.00	\$1,000.00	\$120.00	\$2,400.00	\$65.00	\$1,300.0
7015A*	_	5	EA	\$50.00	\$250.00		\$122.50	\$60.00	\$300.00	\$150.00	\$750.00	\$60.00	\$300.0

CITY OF K	ENT			6		7		8		9		10	
Schedule	A: East Hill Operation Center Phase II	BIDDER	r'S	Johansen Excav	ating, Inc.	Mountain West C	Construction	Kar-Vel Construction		DPK, Inc.		Olson Bros. Exc	avating, Inc.
Schedule	B: 124th Avenue SE Sewer	NAME A	ND	P.O. BOX 674		713 Bay Street #	⊭ 205	P.O. BOX 58275		7829 S. 206th St.		6622 - 112th St	reet E.
Schedule	C: SE 248th Street Transmission Main	ADDRES	SS	Buckley, WA 98	8321	Port Orchard, WA	A 98366	Renton, WA 98058		Kent, WA 98032		Puyallup, WA 9	8373
BID OPE	NING: Tuesday, April 13, 2010												
		TOTAL			\$2,250,080.46		\$2,395,731.28		\$2,585,242.98		\$2,698,589.18		\$2,821,524.83
ITEM					TOTAL		TOTAL		TOTAL		TOTAL		TOTAL
NO.		DUANTITY	UNIT	UNIT PRICE		UNIT PRICE		UNIT PRICE		UNIT PRICE		UNIT PRICE	AMOUNT
7020A*	Straw Mulch - Hand Applied	500	SY	\$1.00	\$500.00	\$1.12	\$560.00	\$1.00	\$500.00	\$3.00	\$1,500.00	\$17.00	\$8,500.00
7025A	Clear Plastic Covering	500	SY	\$1.00	\$500.00	\$1.63	\$815.00	\$1.50	\$750.00	\$4.00	\$2,000.00	\$1.00	\$500.00
7030A*	ESC Lead	600	HR	\$61.60	\$36,960.00	\$59.20	\$35,520.00	\$1.00	\$600.00	\$60.00	\$36,000.00	\$60.00	\$36,000.00
7040A	PVC Swale Liner	100 1	LF	\$56.65	\$5,665.00	\$2.00	\$200.00	\$20.00	\$2,000.00	\$23.00	\$2,300.00	\$5.00	\$500.00
7055A	Erosion/Water Pollution Control		FA LF	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00
7080A 7090A	Remove Existing Silt Fence Erosion Control Blanket	200 250	SY	\$2.25 \$2.10	\$450.00 \$525.00	\$1.90 \$1.75	\$380.00 \$437.50	\$5.00 \$8.00	\$1,000.00 \$2,000.00	\$4.00 \$7.00	\$800.00 \$1,750.00	\$1.00 \$2.50	\$200.00 \$625.00
7090A	Sub Total - Schedule A: VII TESC	230	31	\$2.10	\$69,935.00	\$1.75	\$67,820.00	\$6.00	\$32,150.00	\$7.00	\$74,400.00	\$2.50	\$73,425.00
	Sub Total - Schedule A: VII TESC				\$69,935.00		\$67,820.00		\$32,150.00		\$74,400.00		\$73,425.00
SCHEDUL	E B - 124th Avenue SE Sewer												
SCHDULE	B - I Street												
1000B	Mobilization	1	LS	\$10,750.00	\$10,750.00	\$41,390.00	\$41,390.00	\$110,000.00	\$110,000.00	\$15,000.00	\$15,000.00	\$25,000.00	\$25,000.00
1010B*	Remove Existing Asphalt Concrete Pavement	900	SY	\$6.00	\$5,400.00	\$4.64	\$4,176.00	\$3.00	\$2,700.00	\$3.00	\$2,700.00	\$3.50	\$3,150.00
1040B	Removal of Raised Pavement Markers and Painted and/or Thermoplastic Traffic Markings	1	LS	\$800.00	\$800.00	\$220.00	\$220.00	\$2,000.00	\$2,000.00	\$750.00	\$750.00	\$800.00	\$800.00
1050B*	Saw Cut Existing Asphalt Concrete Pavement	1,600	LF	\$2.25	\$3,600.00	\$4.40	\$7,040.00	\$1.50	\$2,400.00	\$2.00	\$3,200.00	\$2.00	\$3,200.00
1075B*	Gravel Borrow, Including Haul and Compaction	650	TON	\$12.00	\$7,800.00	\$10.18	\$6,617.00	\$2.00	\$1,300.00	\$11.00	\$7,150.00	\$16.00	\$10,400.00
1080B*	Crushed Surfacing Top Course, 5/8 Inch Minus	100	TON	\$14.25	\$1,425.00	\$11.56	\$1,156.00	\$6.00	\$600.00	\$15.00	\$1,500.00	\$20.00	\$2,000.00
1085B*	Crushed Surfacing Base Course, 1-1/4 Inch Minus	300	TON	\$15.00	\$4,500.00	\$18.07	\$5,421.00	\$6.00	\$1,800.00	\$15.00	\$4,500.00	\$24.00	\$7,200.00
1095B*	HMA Class 3/4", PG 64-22	225	TON	\$95.35	\$21,453.75	\$85.39	\$19,212.75	\$130.00	\$29,250.00	\$100.00	\$22,500.00	\$120.00	\$27,000.00
1100B*	HMA Class 1/2" for Full Width Overlay, PG 64-22	400	TON	\$76.55	\$30,620.00	\$71.00	\$28,400.00	\$90.00	\$36,000.00	\$80.00	\$32,000.00	\$90.00	\$36,000.00
1110B*	Cold Planing Bituminous Pavement	400	SY	\$9.65	\$3,860.00	\$6.00	\$2,400.00	\$6.00	\$2,400.00	\$9.00	\$3,600.00	\$9.00	\$3,600.00
1220B	Adjust Existing Catch Basin, Storm Manhole or Sewe	rM 2	EA	\$405.00	\$810.00	\$315.00	\$630.00	\$350.00	\$700.00	\$350.00	\$700.00	\$300.00	\$600.00
1230B	Adjust Existing Valve Box Top Section and Lid to Fini	she 7	EA	\$305.00	\$2,135.00	\$160.00	\$1,120.00	\$150.00	\$1,050.00	\$300.00	\$2,100.00	\$300.00	\$2,100.00
1315B*	Pothole Utilities	10	EA	\$280.00	\$2,800.00	\$300.00	\$3,000.00	\$200.00	\$2,000.00	\$600.00	\$6,000.00	\$400.00	\$4,000.00
	Sub Total - Schedule B: I Street				\$95,953.75		\$120,782.75		\$192,200.00		\$101,700.00		\$125,050.00
SCHEDUL	LE B - III Sewer												
3004B	SDR 35 PVC Sewer Main, 8 Inch Diameter	375	LF	\$23.50	\$8,812.50	\$22.90	\$8,587.50	\$58.00	\$21,750.00	\$85.00	\$31,875.00	\$65.00	\$24,375.00
3006B	C900 PVC Sewer Main, 8 Inch Diameter	450	LF	\$27.80	\$12,510.00	\$22.60	\$10,170.00	\$60.00	\$27,000.00	\$75.00	\$33,750.00	\$75.00	\$33,750.00
3040B	Special Shallow Manhole	1	EA	\$1,635.00	\$1,635.00	\$2,635.00	\$2,635.00	\$2,200.00	\$2,200.00	\$2,000.00	\$2,000.00	\$2,500.00	\$2,500.00
3050B*	Manhole Under 12 Feet, Type 1 48 Inch Diameter	3	EA	\$1,800.00	\$5,400.00	\$3,110.00	\$9,330.00	\$4,000.00	\$12,000.00	\$2,500.00	\$7,500.00	\$2,200.00	\$6,600.00
3085B*	Locking Manhole Frame and Cover	4	EA	\$275.00	\$1,100.00	\$330.00	\$1,320.00	\$400.00	\$1,600.00	\$500.00	\$2,000.00	\$500.00	\$2,000.00
3100B*	Sewer Cleanout	1	EA	\$195.00	\$195.00	\$300.00	\$300.00	\$800.00	\$800.00	\$350.00	\$350.00	\$450.00	\$450.00
3115B*	Shoring or Extra Excavation, Class B	4,500	SF	\$0.15	\$675.00	\$0.65	\$2,925.00	\$0.01	\$45.00	\$0.10	\$450.00	\$0.50	\$2,250.00
3140B*	Crushed Surfacing Top Course, 5/8 Inch Minus	750	TON	\$14.25	\$10,687.50	\$11.56	\$8,670.00	\$6.00	\$4,500.00	\$15.00	\$11,250.00	\$20.00	\$15,000.00
	Sub Total - Schedule B: III Sewer				\$41,015.00		\$43,937.50		\$69,895.00		\$89,175.00		\$86,925.00
SCHEDUL	LE B - V TRAFFIC CONTROL												
5005B*	Traffic Control Labor	180	HR	\$41.00	\$7,380.00	\$46.25	\$8,325.00	\$40.00	\$7,200.00	\$40.00	\$7,200.00	\$41.00	\$7,380.00
5015B*	Traffic Control Supervisor	45	HR	\$43.75	\$1,968.75	\$56.50	\$2,542.50	\$1.00	\$45.00	\$50.00	\$2,250.00	\$44.00	\$1,980.00
5020B	Temporary Traffic Control Devices	1	LS	\$1,765.00	\$1,765.00	\$5,545.00	\$5,545.00	\$3,000.00	\$3,000.00	\$2,500.00	\$2,500.00	\$4,000.00	\$4,000.00

СІТУ ОБ К	FNT			1 6		1 7		l 8] 9		10	
	A: East Hill Operation Center Phase II	BIDDER	'S	Johansen Excav	ating, Inc.	Mountain West C	onstruction	Kar-Vel Construction	า	DPK, Inc.		Olson Bros. Exc	avating, Inc.
	B: 124th Avenue SE Sewer	NAME A		P.O. BOX 674	g,	713 Bay Street #		P.O. BOX 58275		7829 S. 206th St.		6622 - 112th St	0
	C: SE 248th Street Transmission Main	ADDRES		Buckley, WA 98	321	Port Orchard, WA		Renton, WA 98058		Kent, WA 98032		Puyallup, WA 9	
	NING: Tuesday, April 13, 2010											-y==p,	
		TOTAL			\$2,250,080.46		\$2,395,731.28		\$2,585,242.98		\$2,698,589.18		\$2,821,524.83
ITEM					TOTAL		TOTAL		TOTAL		TOTAL		TOTAL
NO.	DESCRIPTION	UANTITY	UNIT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
5035B*	Sequential Arrow Sign (SAS)	15	DAY	\$128.00	\$1,920.00	\$94.00	\$1,410.00		\$1,050.00	\$20.00	\$300.00	\$100.00	\$1,500.00
5075B	Permanent Channelization	1	LS	\$4,450.00	\$4,450.00	\$995.00	\$995.00	\$5,000.00	\$5,000.00	\$2,800.00	\$2,800.00	\$4,200.00	\$4,200.00
	Sub Total - Schedule B: V Traffic Control				\$17,483.75		\$18,817.50		\$16,295.00		\$15,050.00		\$19,060.00
SCHEDUL	EB-VII TEMPORARY EROSION and SEDIMENT (CONTROL											
7005B*	Silt Fence	500	LF	\$3.35	\$1,675.00	\$3.55	\$1,775.00	\$4.00	\$2,000.00	\$7.00	\$3,500.00	\$5.00	\$2,500.00
7010B*	Straw Log Barrier	35	EA	\$42.00	\$1,470.00	\$282.00	\$9,870.00	\$50.00	\$1,750.00	\$120.00	\$4,200.00	\$65.00	\$2,275.00
7015B*	Inlet Protection	7	EA	\$50.00	\$350.00	\$24.50	\$171.50	\$60.00	\$420.00	\$150.00	\$1,050.00	\$60.00	\$420.00
7030B*	ESC Lead	120	HR	\$61.60	\$7,392.00	\$59.20	\$7,104.00	\$1.00	\$120.00	\$60.00	\$7,200.00	\$60.00	\$7,200.00
7055B	Erosion/Water Pollution Control	1	FA	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00
	Sub Total - Schedule B: VII TESC				\$13,387.00		\$21,420.50		\$6,790.00		\$18,450.00		\$14,895.00
				-									
SCHEDUL	.E. C S. 248th Street Transmission Main					1				1		1	
SCHEDUL	.E.CI Street												
1000C	Mobilization	1	LS	\$23,750.00	\$23,750.00	\$29,783.00	\$29,783.00	\$140,000.00	\$140,000.00	\$56,000.00	\$56,000.00	\$25,000.00	\$25,000.00
1010C*	Remove Existing Asphalt Concrete Pavement	2,000	SY	\$6.00	\$12,000.00	\$4.64	\$9,280.00	\$3.00	\$6,000.00	\$3.00	\$6,000.00	\$3.50	\$7,000.00
1040C	Removal of Raised Pavement Markers and Painted and/or Thermo	ppla: 1	LS	\$800.00	\$800.00	\$608.00	\$608.00	\$2,000.00	\$2,000.00	\$750.00	\$750.00	\$1,000.00	\$1,000.00
1050C*	Saw Cut Existing Asphalt Concrete Pavement	4,500	LF	\$2.25	\$10,125.00	\$4.40	\$19,800.00	\$1.50	\$6,750.00	\$2.00	\$9,000.00	\$2.00	\$9,000.00
1070C	Geotextile Fabric, Non-Woven	500	SY	\$1.20	\$600.00	\$3.83	\$1,915.00	\$1.50	\$750.00	\$2.50	\$1,250.00	\$8.00	\$4,000.00
1080C*	Crushed Surfacing Top Course, 5/8 Inch Minus	200	TON	\$14.25	\$2,850.00	\$11.56	\$2,312.00	\$6.00	\$1,200.00	\$15.00	\$3,000.00	\$20.00	\$4,000.00
1085C*	Crushed Surfacing Base Course, 1-1/4 Inch Minus	600	TON	\$15.00	\$9,000.00	\$18.07	\$10,842.00	\$6.00	\$3,600.00	\$15.00	\$9,000.00	\$24.00	\$14,400.00
1095C*	HMA Class 3/4", PG 64-22	500	TON	\$95.35	\$47,675.00	\$85.39	\$42,695.00	\$130.00	\$65,000.00	\$100.00	\$50,000.00	\$120.00	\$60,000.00
1100C*	HMA Class 1/2" for Full Width Overlay, PG 64-22	1,000	TON	\$76.55	\$76,550.00	\$71.00	\$71,000.00	\$90.00	\$90,000.00	\$80.00	\$80,000.00	\$90.00	\$90,000.00
1110C*	Cold Planing Bituminous Pavement	900	SY	\$9.65	\$8,685.00	\$6.00	\$5,400.00	\$6.00	\$5,400.00	\$9.00	\$8,100.00	\$9.00	\$8,100.00
1125C	Cold Plant Mix for Temporary Pavement Patch	50	TON	\$130.00	\$6,500.00	\$96.80	\$4,840.00	\$100.00	\$5,000.00	\$72.00	\$3,600.00	\$100.00	\$5,000.00
1250C	Install New Monument, Case and Cover to Finished G	Grac 4	EA	\$570.00	\$2,280.00	\$1,040.00	\$4,160.00	\$800.00	\$3,200.00	\$600.00	\$2,400.00	\$300.00	\$1,200.00
1265C	Remove and Reinstall Wire Fence, with Chain Link Ga	ate 50	LF	\$21.75	\$1,087.50	\$16.60	\$830.00	\$15.00	\$750.00	\$15.00	\$750.00	\$16.00	\$800.00
1315C*	Pothole Utilities	25	EA	\$280.00	\$7,000.00	\$300.00	\$7,500.00	\$200.00	\$5,000.00	\$600.00	\$15,000.00	\$400.00	\$10,000.00
	Sub Total - Schedule C: I Street				\$208,902.50		\$210,965.00		\$334,650.00		\$244,850.00		\$239,500.00
cours:	5.0. II. W-1												
	.E.CII Water	2	Ε.Δ	¢1 (20.00	¢2.2/0.00	¢1 720 00	#2.4/C.22	#2.000.00	#/ 00C CC	¢10,000,00	¢20,000,00	¢1 500 60	¢2.000.00
	8 Inch Connection to Existing Water Main	2	EA	\$1,630.00	\$3,260.00		\$3,460.00		\$6,000.00		\$20,000.00		\$3,000.00
2016C	18 Inch Connection to Existing Water Main	1	EA	\$1,885.00	\$1,885.00	\$685.00	\$685.00	· ·	\$4,000.00	\$15,000.00	\$15,000.00	\$2,500.00	\$2,500.00
2020C*	6 Inch Diameter Ductile Iron, CI 52 Water Main Pipe	25	LF	\$40.00	\$1,000.00	\$20.70	\$517.50	\$39.00	\$975.00	\$75.00	\$1,875.00	\$45.00	\$1,125.00
2021C	6 Inch Diameter Ductile Iron, CI 52 Restrained Joint		LF	\$40.00	\$3,000.00	\$20.64	\$1,548.00	\$56.00	\$4,200.00	\$77.00	\$5,775.00	\$80.00	\$6,000.00
2034C	12 Inch Diameter Ductile Iron, CI 52 Restrained Joint		LF	\$70.50	\$3,525.00	\$49.00	\$2,450.00		\$4,000.00	\$75.00	\$3,750.00	\$80.00	\$4,000.00
2035C*	12 Inch Diameter Ductile Iron, CI 52 Water Main Pipe		LF	\$37.00	\$2,775.00	\$61.75	\$4,631.25	\$75.00	\$5,625.00	\$70.00	\$5,250.00	\$60.00	\$4,500.00
2036C	16 Inch Diameter Ductile Iron, CI 52 Water Main Pipe		LF	\$161.00	\$3,220.00	\$191.17	\$3,823.40	\$300.00	\$6,000.00	\$185.00	\$3,700.00	\$160.00	\$3,200.00
2037C	18 Inch Diameter Ductile Iron, CI 52 Water Main Pipe		LF	\$60.00	\$48,000.00	\$78.40	\$62,720.00	\$80.00	\$64,000.00	\$85.00	\$68,000.00	\$90.00	\$72,000.00
2038C	20 Inch Diameter Ductile Iron, CI 52 Water Main Pipe	2,300	LF	\$97.00	\$223,100.00	\$84.34	\$193,982.00	\$115.00	\$264,500.00	\$100.00	\$230,000.00	\$100.00	\$230,000.00

CITY OF K	ENT			l 6		J 7		l 8		9		10	
Schedule	A: East Hill Operation Center Phase II	BIDDER	'S	Johansen Excav	ating, Inc.	Mountain West C	onstruction	Kar-Vel Construction		DPK, Inc.		Olson Bros. Exc	avating, Inc.
Schedule	B: 124th Avenue SE Sewer	NAME A	ND	P.O. BOX 674		713 Bay Street #	205	P.O. BOX 58275		7829 S. 206th St.		6622 - 112th St	treet E.
Schedule	C: SE 248th Street Transmission Main	ADDRES	SS	Buckley, WA 98	321	Port Orchard, WA		Renton, WA 98058		Kent, WA 98032		Puyallup, WA 9	
BID OPEN	IING: Tuesday, April 13, 2010												
		TOTAL			\$2,250,080.46		\$2,395,731.28		\$2,585,242.98		\$2,698,589.18		\$2,821,524.83
ITEM					TOTAL	-	TOTAL		TOTAL		TOTAL		TOTAL
NO.	DESCRIPTION QUA	ANTITY	UNIT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
2039C	20 Inch Diameter Ductile Iron CL 52 Restrained Joint W	/i 950	LF	\$105.00	\$99,750.00	\$95.50	\$90,725.00	\$120.00	\$114,000.00	\$105.00	\$99,750.00	\$140.00	\$133,000.00
2040C*	4 Inch Gate Valve MJ x FL or MJ x MJ or FL x FL	1	EA	\$830.00	\$830.00	\$440.00	\$440.00	\$700.00	\$700.00	\$500.00	\$500.00	\$900.00	\$900.00
2041C*	6 Inch Gate Valve MJ x FL or MJ x MJ or FL x FL	5	EA	\$955.00	\$4,775.00	\$628.00	\$3,140.00	\$800.00	\$4,000.00	\$600.00	\$3,000.00	\$1,200.00	\$6,000.00
2045C*	8 Inch Gate Valve MJ x FL or MJ x MJ or FL x FL	1	EA	\$1,200.00	\$1,200.00	\$900.00	\$900.00	\$1,200.00	\$1,200.00	\$900.00	\$900.00	\$1,250.00	\$1,250.00
2050C*	10 Inch Gate Valve MJ x FL or MJ x MJ or FL x FL	4	EA	\$1,660.00	\$6,640.00	\$1,385.00	\$5,540.00	\$1,600.00	\$6,400.00	\$1,300.00	\$5,200.00	\$1,800.00	\$7,200.00
2055C*	12 Inch Gate Valve MJ x FL or MJ x MJ or FL x FL	7	EA	\$1,895.00	\$13,265.00	\$1,585.00	\$11,095.00	\$2,000.00	\$14,000.00	\$1,600.00	\$11,200.00	\$2,100.00	\$14,700.00
2056C	16 Inch Gate Valve MJ x FL or MJ x MJ or FL x FL	1	EA	\$5,465.00	\$5,465.00	\$5,315.00	\$5,315.00	\$8,000.00	\$8,000.00	\$8,000.00	\$8,000.00	\$6,200.00	\$6,200.00
2057C	16 Inch Butterfly Valve MJ x FL or MJ x MJ or FL x FL	2	EA	\$2,275.00	\$4,550.00	\$1,940.00	\$3,880.00	\$3,000.00	\$6,000.00	\$3,000.00	\$6,000.00	\$4,800.00	\$9,600.00
2080C*	Hydrant Assembly	2	EA	\$5,850.00	\$11,700.00	\$4,285.00	\$8,570.00	\$4,000.00	\$8,000.00	\$4,500.00	\$9,000.00	\$4,200.00	\$8,400.00
2087C	16 Inch Blowoff Assembly with 6 Inch Bypass Valve Ass	s 1	EA	\$38,000.00	\$38,000.00	\$48,310.00	\$48,310.00	\$46,000.00	\$46,000.00	\$50,000.00	\$50,000.00	\$45,000.00	\$45,000.00
2088C	6 Inch Bypass Valve Assembly	1	EA	\$22,775.00	\$22,775.00	\$30,720.00	\$30,720.00	\$26,000.00	\$26,000.00	\$25,000.00	\$25,000.00	\$25,000.00	\$25,000.00
2090C*	6 Inch Air Release Valve with Vault	1	EA	\$12,365.00	\$12,365.00	\$7,615.00	\$7,615.00	\$14,000.00	\$14,000.00	\$15,000.00	\$15,000.00	\$8,000.00	\$8,000.00
2091C	Remove Air Release Valve and Manhole	1	EA	\$910.00	\$910.00	\$300.00	\$300.00	\$2,000.00	\$2,000.00	\$3,500.00	\$3,500.00	\$1,400.00	\$1,400.00
2092C	Sediment Flush Assembly	2	EA	\$5,200.00	\$10,400.00	\$14,890.00	\$29,780.00	\$3,000.00	\$6,000.00	\$10,000.00	\$20,000.00	\$7,500.00	\$15,000.00
2094C	16 Inch Check Valve and Vault	1	EA	\$17,000.00	\$17,000.00	\$13,215.00	\$13,215.00	\$27,000.00	\$27,000.00	\$30,000.00	\$30,000.00	\$21,000.00	\$21,000.00
2100C	Remove Existing Fire Hydrant Assembly	1	EA	\$150.00	\$150.00	\$400.00	\$400.00	\$300.00	\$300.00	\$900.00	\$900.00	\$1,500.00	\$1,500.00
2115C	Abandon Existing 8 Inch Water Main	2	EA	\$88.00	\$176.00	\$5,235.00	\$10,470.00	\$200.00	\$400.00	\$2,500.00	\$5,000.00	\$500.00	\$1,000.00
2255C*	Shoring or Extra Excavation, Class B	30,000	SF	\$0.15	\$4,500.00	\$0.65	\$19,500.00	\$0.01	\$300.00	\$0.10	\$3,000.00	\$0.50	\$15,000.00
2280C*	Crushed Surfacing Top Course, 5/8 Inch Minus	1,800	TON	\$14.25	\$25,650.00	\$11.56	\$20,808.00	\$6.00	\$10,800.00	\$15.00	\$27,000.00	\$20.00	\$36,000.00
2290C*	Gravel Borrow, Including Haul and Compaction	5,500	TON	\$12.00	\$66,000.00	\$10.18	\$55,990.00	\$2.00	\$11,000.00	\$11.00	\$60,500.00	\$16.00	\$88,000.00
	Sub Total - Schedule C: II Water				\$635,866.00		\$640,530.15		\$665,400.00		\$736,800.00		\$770,475.00
SCHEDUL	E C - V Traffic Control												
5005C*	Traffic Control Labor	550	HR	\$41.00	\$22,550.00	\$46.25	\$25,437.50	\$40.00	\$22,000.00	\$40.00	\$22,000.00	\$41.00	\$22,550.00
5015C*	Traffic Control Supervisor	150	HR	\$43.75	\$6,562.50	\$56.50	\$8,475.00	\$1.00	\$150.00	\$50.00	\$7,500.00	\$44.00	\$6,600.00
5020C	Temporary Traffic Control Devices	1	LS	\$5,400.00	\$5,400.00	\$5,555.00	\$5,555.00	\$3,000.00	\$3,000.00	\$2,500.00	\$2,500.00	\$3,000.00	\$3,000.00
5030C	Portable Changeable Message Sign (PCMS)	45	DAY	\$128.00	\$5,760.00	\$55.50	\$2,497.50	\$100.00	\$4,500.00	\$86.00	\$3,870.00	\$150.00	\$6,750.00
5035C*	Sequential Arrow Sign (SAS)	45	DAY	\$128.00	\$5,760.00	\$94.00	\$4,230.00	\$70.00	\$3,150.00	\$20.00	\$900.00	\$100.00	\$4,500.00
5075C	Permanent Channelization	1	LS	\$1,450.00	\$1,450.00	\$2,765.00	\$2,765.00	\$5,000.00	\$5,000.00	\$2,800.00	\$2,800.00	\$1,500.00	\$1,500.00
	Sub Total - Schedule C: V Traffic Control				\$47,482.50		\$48,960.00		\$37,800.00		\$39,570.00		\$44,900.00
SCHEDUL	E C - VII Temporary Erosion and Sedimentation Co	ontrol											
7005C*	Silt Fence	1,700	LF	\$3.35	\$5,695.00	\$3.55	\$6,035.00	\$4.00	\$6,800.00	\$7.00	\$11,900.00	\$5.00	\$8,500.00
7010C*	Straw Log Barrier	50	EA	\$42.00	\$2,100.00	\$282.00	\$14,100.00	\$50.00	\$2,500.00	\$120.00	\$6,000.00	\$65.00	\$3,250.00
7015C*	Inlet Protection	3	EA	\$50.00	\$150.00	\$24.50	\$73.50	\$60.00	\$180.00	\$150.00	\$450.00	\$60.00	\$180.00
7020C*	Straw Mulch - Hand Applied	500	SY	\$1.00	\$500.00	\$1.12	\$560.00	\$1.00	\$500.00	\$3.00	\$1,500.00	\$17.00	\$8,500.00
7030C*	ESC Lead	400	HR	\$61.60	\$24,640.00	\$59.20	\$23,680.00	\$1.00	\$400.00	\$60.00	\$24,000.00	\$60.00	\$24,000.00
7055C	Erosion/Water Pollution Control	1	FA	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00
	Sub Total - Schedule C: VII TESC				\$43,085.00		\$54,448.50		\$20,380.00		\$53,850.00		\$54,430.00
I				I		I		I		I		I	

loury or	WENT			1 .		_	1 .		1 -	1	
CITY OF		DIDDE	010	6		7	8		9	10	
	Ile A: East Hill Operation Center Phase II	BIDDEI		Johansen Exca	vating, Inc.	Mountain West Construction	Kar-Vel Construction	on	DPK, Inc.		xcavating, Inc.
	Ile B: 124th Avenue SE Sewer	NAME A		P.O. BOX 674		713 Bay Street #205	P.O. BOX 58275		7829 S. 206th St.	6622 - 112th	
	Ile C: SE 248th Street Transmission Main	ADDRE	.SS	Buckley, WA 9	98321	Port Orchard, WA 98366	Renton, WA 98058	3	Kent, WA 98032	Puyallup, WA	98373
BID OF	ENING: Tuesday, April 13, 2010										
		TOTAL			\$2,250,080.46	\$2,395,731		\$2,585,242.98			\$2,821,524.83
ITEM	DECODINE	0114417171			TOTAL		TAL	TOTAL			TOTA
NO.	DESCRIPTION	QUANTITY	UNIT	UNIT PRICE	AMOUNI	UNIT PRICE AMO	JNT UNIT PRICE	AMOUNI	UNIT PRICE AMOU	INT UNIT PRICE	AMOUN
SUMMA	ARY: Schedule A, B and C TOTALS					1			T		
	SCHEDULE A - Kent East Hill Operation Cer	nter Phase II									
	Schedule A - I Street				\$278,173.75	\$360,634	50	\$310,937.50	\$283,100.	00	\$304,950.00
	Schedule A - II Water				\$242,952.50	\$235,309		\$262,400.00	\$286,770.	00	\$319,350.00
	Schedule A - III Sewer				\$131,180.00	\$121,379	00	\$155,455.00	\$236,100.	00	\$205,000.00
	Schedule A - IV Storm Sewer				\$229,451.25	\$242,877	75	\$256,600.00	\$284,650.	00	\$318,775.00
	Schedule A - VII TESC				\$69,935.00	\$67,820	00	\$32,150.00	\$74,400.	00	\$73,425.00
	SCHDULE B 124th Avenue SE Sewer										
	Schedule B - I Street				\$95,953.75	\$120,782	75	\$192,200.00	\$101,700.	00	\$125,050.00
	Schedule B - III Sewer				\$41,015.00	\$43,937	50	\$69,895.00	\$89,175.	00	\$86,925.00
	Schedule B - V Traffic Control				\$17,483.75	\$18,817	50	\$16,295.00	\$15,050.	00	\$19,060.00
	Schedule B - VII TESC				\$13,387.00	\$21,420	50	\$6,790.00	\$18,450.	00	\$14,895.00
	SCHEDULE C - S. 248th Transmission Main										
	Schedule C - I Street				\$208,902.50	\$210,965	00	\$334,650.00	\$244,850.	00	\$239,500.00
	Schedule C - II Water				\$635,866.00	\$640,530	15	\$665,400.00	\$736,800.	00	\$770,475.00
	Schedule C - V Traffic Control				\$47,482.50	\$48,960	00	\$37,800.00	\$39,570.	00	\$44,900.00
	Schedule C - VII TESC				\$43,085.00	\$54,448	50	\$20,380.00	\$53,850.	00	\$54,430.00
	Sub total				\$2,054,868.00	\$2,187,882	45	\$2,360,952.50	\$2,464,465.	00	\$2,576,735.00
	9.5% sales tax				\$195,212.46	\$207,848	83	\$224,290.48	\$234,124.	18	\$244,789.83
CONST	RUCTION CONTRACT TOTAL				\$2,250,080.46	\$2,395,731	28	\$2,585,242.98	\$2,698,589.	18	\$2,821,524.83

СІТУ ОБ К	FNT			11		I		
	A: East Hill Operation Center Phase II	BIDDER'S		Westwater Cons	truction Co.	ENGINEER'S ESTIMATE		
	B: 124th Avenue SE Sewer	NAME A		31833 Kent Blad		Garrett Inouye		
Schedule C: SE 248th Street Transmission Main		ADDRESS		Auburn, WA 98				
	NING: Tuesday, April 13, 2010	7.551120		7.000, 117.	0.12			
	,	TOTAL			\$2,872,951.50		\$3,418,540.73	
ITEM					TOTAL		TOTAL	
NO.	DESCRIPTION	QUANTITY	UNIT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	
SCHEDUL	E A - On Site Utilities							
SCHEDUL	E A - I Street							
1000A	Mobilization	1	LS	\$32,000.00	\$32,000.00	\$150,000.00	\$150,000.00	
1001A	Field Trailer	1	LS	\$30,000.00	\$30,000.00	\$20,000.00	\$20,000.00	
1005A	Clearing and Grubbing	1	LS	\$8,000.00	\$8,000.00	\$5,000.00	\$5,000.00	
1010A*	Remove Existing Asphalt Concrete Pavement	1,000	SY	\$0.50	\$500.00	\$7.00	\$7,000.00	
1019A	Well Abandonment	1	LS	\$3,000.00	\$3,000.00	\$15,000.00	\$15,000.00	
1050A*	Saw Cut Existing Asphalt Concrete Pavement	25	LF	\$6.00	\$150.00	\$4.00	\$100.00	
1060A	Roadway Excavation	1,500	CY	\$6.00	\$9,000.00	\$10.00	\$15,000.00	
1065A	Unsuitable Material Disposal	5,000	CY	\$25.00	\$125,000.00	\$10.00	\$50,000.00	
1080A*	Crushed Surfacing Top Course, 5/8 Inch Minus	250	TON	\$10.00	\$2,500.00	\$20.00	\$5,000.00	
1085A*	Crushed Surfacing Base Course, 1-1/4 Inch Minus	350	TON	\$10.00	\$3,500.00	\$20.00	\$7,000.00	
1095A*	HMA Class 3/4", PG 64-22	100	TON	\$85.00	\$8,500.00	\$80.00	\$8,000.00	
1255A	Remove Fence	1,200	LF	\$5.00	\$6,000.00	\$7.00	\$8,400.00	
1256A	Remove Fence and Concrete Mow Strip	200	LF	\$12.00	\$2,400.00	\$10.00	\$2,000.00	
1275A	Install New Chain Link Fence	1,200	LF	\$35.00	\$42,000.00	\$25.00	\$30,000.00	
1280A	Concrete Mow Strip	1,200	LF	\$10.00	\$12,000.00	\$10.00	\$12,000.00	
1370A	Watering	1,000	HR	\$40.00	\$40,000.00	\$100.00	\$100,000.00	
1375A	LEED Coordination Manager	1	LS	\$5,000.00	\$5,000.00	\$10,000.00	\$10,000.00	
	Sub Total - Schedule A: I Street				\$329,550.00		\$444,500.00	
SCHEDUL	_E A - II Water							
2019A	Water Service Line, 1 Inch Diameter	160	LF	\$10.00	\$1,600.00	\$12.00	\$1,920.00	
2020A*	6 Inch Diameter Ductile Iron, CI 52 Water Main Pipe		LF	\$30.00	\$3,000.00	\$70.00	\$7,000.00	
2025A	8 Inch Diameter Ductile Iron, CI 52 Water Main Pipe		LF	\$38.00	\$34,200.00	\$75.00	\$67,500.00	
2030A	10 Inch Diameter Ductile Iron, CI 52 Water Main Pip		LF	\$40.00	\$42,000.00	\$80.00	\$84,000.00	
2035A*	12 Inch Diameter Ductile Iron, CI 52 Water Main Pip		LF	\$45.00	\$20,250.00	\$85.00	\$38,250.00	
2040A*	4 Inch Gate Valve MJ x FL or MJ x MJ or FL x FL	1	EA	\$800.00	\$800.00	\$700.00	\$700.00	
2041A*	6 Inch Gate Valve MJ x FL or MJ x MJ or FL x FL	3	EA	\$1,000.00	\$3,000.00	\$800.00	\$2,400.00	
2045A*	8 Inch Gate Valve MJ x FL or MJ x MJ or FL x FL	6	EA	\$1,400.00	\$8,400.00	\$1,200.00	\$7,200.00	
2050A*	10 Inch Gate Valve MJ x FL or MJ x MJ or FL x FL	4	EA	\$1,800.00	\$7,200.00	\$1,700.00	\$6,800.00	
2055A*	12 Inch Gate Valve MJ x FL or MJ x MJ or FL x FL	3	EA	\$2,500.00	\$7,500.00	\$2,000.00	\$6,000.00	
2080A*	Hydrant Assembly	6	EA	\$8,000.00	\$48,000.00	\$4,000.00	\$24,000.00	
2085A	4 Inch Blowoff Assembly	6	EA	\$4,000.00	\$24,000.00	\$3,000.00	\$18,000.00	
2086A	16 Inch Blowoff Assembly	1	EA	\$10,000.00	\$10,000.00	\$15,000.00	\$15,000.00	
2089A	10 Inch Check Valve and Vault	1	EA	\$25,000.00	\$25,000.00	\$10,000.00	\$10,000.00	
2090A*	6 Inch Air Release Valve with Vault	1	EA	\$18,000.00	\$18,000.00	\$10,000.00	\$10,000.00	
2093A	12 Inch Check Valve and Vault	1	EA	\$27,000.00	\$27,000.00	\$15,000.00	\$15,000.00	
2255A*	Shoring or Extra Excavation, Class B	11,000	SF	\$1.00	\$11,000.00	\$0.50	\$5,500.00	
2280A*	Crushed Surfacing Top Course, 5/8 Inch Minus	1,250	TON	\$10.00	\$12,500.00	\$20.00	\$25,000.00	
2290A*	Gravel Borrow, Including Haul and Compaction	2,400	TON	\$10.00	\$24,000.00		\$48,000.00	

CITY OF K	ENT			11		1	
Schedule A: East Hill Operation Center Phase II Schedule B: 124th Avenue SE Sewer Schedule C: SE 248th Street Transmission Main		BIDDER	'S	Westwater Construction Co.		ENGINEER'S EST	IMATE
		NAME A	ND	31833 Kent Blad	ck Diamond Rd.	Garrett Inouye	
		ADDRES	S	Auburn, WA 98	092		
BID OPE	NING: Tuesday, April 13, 2010						
		TOTAL			\$2,872,951.50		\$3,418,540.73
ITEM					TOTAL		TOTAL
NO.		UANTITY	UNIT	UNIT PRICE		UNIT PRICE	AMOUNT
	Sub Total - Schedule A: II Water				\$327,450.00		\$392,270.00
SCHEDUL	E A - III Sewer						
3000A	SDR 35 PVC Sewer Pipe, 6 Inch Diameter	275	LF	\$40.00	\$11,000.00	\$30.00	\$8,250.00
3001A	Ductile Iron Sewer Pipe, 6 Inch Diameter	100	LF	\$60.00	\$6,000.00	\$75.00	\$7,500.00
3005A	SDR 35 PVC Sewer Pipe, 8 Inch Diameter	1,400	LF	\$50.00	\$70,000.00	\$75.00	\$105,000.00
3050A*	Manhole Under 12 Feet, Type 1 48 Inch Diameter	7	EA	\$4,000.00	\$28,000.00	\$3,250.00	\$22,750.00
3060A	Manhole 12 Feet to 20 Feet, Type 1 48 Inch Diamete	r 1	EA	\$6,000.00	\$6,000.00	\$7,000.00	\$7,000.00
3065A	Manhole 12 Feet to 20 Feet, Type 1 54 Inch Diameter, Including	1	EA	\$8,000.00	\$8,000.00	\$10,000.00	\$10,000.00
3085A*	PVC Inside Drop Connection Locking Manhole Frame and Cover	9	EA	\$400.00	\$3,600.00	\$10,000.00	\$2,925.00
3100A*	Sewer Cleanout	2	EA	\$600.00	\$1,200.00	\$525.00 \$550.00	\$1,100.00
3100A 3115A*	Shoring or Extra Excavation, Class B	18,000	SF	\$1.00	\$18,000.00	\$0.50	\$9,000.00
3140A*	Crushed Surfacing Top Course, 5/8 Inch Minus	1,000	TON	\$10.00	\$10,000.00	\$20.00	\$20,000.00
3140A*	Gravel Borrow, Including Haul and Compaction	3,600	TON	\$10.00	\$36,000.00	\$20.00	\$72,000.00
31304	Sub Total - Schedule A: III Sewer	3,000	ION	Ψ10.00	\$197,800.00	Ψ20.00	\$265,525.00
	Table Solidadio / III Solida				\$177,000.00		\$200,020.00
SCHEDUL	E A - IV Storm Sewer						
4010A	C900 PVC Storm Sewer Pipe, 8 Inch Diameter	200	LF	\$30.00	\$6,000.00	\$80.00	\$16,000.00
4015A	SDR 35 PVC Storm Sewer Pipe, 12 Inch Diameter	950	LF	\$35.00	\$33,250.00	\$80.00	\$76,000.00
4016A	C900 PVC Storm Sewer Pipe, 12 Inch Diameter	1,025	LF	\$38.00	\$38,950.00	\$85.00	\$87,125.00
4025A	SDR 35 PVC Storm Sewer Pipe, 18 Inch Diameter	875	LF	\$45.00	\$39,375.00	\$95.00	\$83,125.00
4035A	SDR 35 PVC Storm Sewer Pipe, 24 Inch Diameter	200	LF	\$60.00	\$12,000.00	\$105.00	\$21,000.00
4080A	Catch Basin, Type 1	16	EA	\$1,500.00	\$24,000.00	\$1,100.00	\$17,600.00
4085A	Catch Basin, Type 2 48 Inch Diameter	17	EA	\$3,000.00	\$51,000.00	\$2,200.00	\$37,400.00
4090A	Catch Basin, Type 2 54 Inch Diameter	1	EA	\$4,000.00	\$4,000.00	\$4,000.00	\$4,000.00
4095A	Catch Basin, Type 2 72 Inch Diameter	1	EA	\$8,000.00	\$8,000.00	\$5,000.00	\$5,000.00
4120A	Vaned Directional Catch Basin Frame and Grate	10	EA	\$400.00	\$4,000.00	\$400.00	\$4,000.00
4125A	Vaned Bi-Directional Catch Basin Frame and Grate	23	EA	\$400.00	\$9,200.00	\$400.00	\$9,200.00
4130A	Oil/Water Separator	1	EA	\$6,000.00	\$6,000.00	\$20,000.00	\$20,000.00
4135A	Remove Existing Storm Sewer Pipe or Culvert	275	LF	\$20.00	\$5,500.00	\$5.00	\$1,375.00
4150A*	Shoring or Extra Excavation, Class B	14,000	SF	\$1.00	\$14,000.00	\$0.50	\$7,000.00
4160A	Light Loose Riprap	10	TON	\$100.00	\$1,000.00	\$50.00	\$500.00
4175A*	Crushed Surfacing Top Course, 5/8 Inch Minus	2,600	TON	\$10.00	\$26,000.00	\$20.00	\$52,000.00
4185A*	Gravel Borrow, Including Haul and Compaction	2,200	TON	\$10.00	\$22,000.00	\$20.00	\$44,000.00
	Sub Total - Schedule A: IV Storm Sewer				\$304,275.00		\$485,325.00
ecuen:"	F.A. VIII Tomorous Francism & Soding and all and Com-	l					
	E A - VII Temporary Erosion & Sedimentaion Cor		4.0	\$2,000,00	¢2.000.00	¢3 E00 00	¢2 500 00
7000A	Seeding, Fertilizing, and Mulching	700	AC	\$2,000.00	\$2,000.00	\$2,500.00	\$2,500.00
7005A*	Silt Fence	700	LF	\$14.00	\$9,800.00	\$7.00	\$4,900.00
7010A*	Straw Log Barrier	20 5	EA EA	\$100.00	\$2,000.00	\$75.00 \$135.00	\$1,500.00
7015A*	Inlet Protection	5	EA	\$100.00	\$500.00	\$125.00	\$625.00

CITY OF K	ENT			11			
Schedule	Schedule A: East Hill Operation Center Phase II BIDDER'S		!'S	Westwater Cons	truction Co.	ENGINEER'S ESTIMATE	
Schedule B: 124th Avenue SE Sewer NAM		NAME A	ND	31833 Kent Blac	31833 Kent Black Diamond Rd.		
Schedule C: SE 248th Street Transmission Main ADDRESS			Auburn, WA 980	092			
BID OPE	IING: Tuesday, April 13, 2010						
		TOTAL			\$2,872,951.50		\$3,418,540.73
ITEM	DEGODINE				TOTAL		TOTAL
NO.		UANTITY	UNIT	UNIT PRICE		UNIT PRICE	AMOUNT
7020A*	Straw Mulch - Hand Applied	500	SY	\$3.00	\$1,500.00	\$5.00	\$2,500.00
7025A	Clear Plastic Covering	500	SY	\$3.00	\$1,500.00	\$2.50	\$1,250.00
7030A*	ESC Lead	600	HR	\$25.00	\$15,000.00	\$30.00	\$18,000.00
7040A	PVC Swale Liner	100	LF	\$15.00	\$1,500.00	\$10.00	\$1,000.00
7055A	Erosion/Water Pollution Control	1	FA	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00
7080A	Remove Existing Silt Fence	200	LF CV	\$4.00	\$800.00	\$3.00	\$600.00
7090A	Erosion Control Blanket	250	SY	\$10.00	\$2,500.00	\$5.00	\$1,250.00
	Sub Total - Schedule A: VII TESC				\$57,100.00		\$54,125.00
SCHEDUL	E B - 124th Avenue SE Sewer						
SCHDULE	B - I Street						
1000B	Mobilization	1	LS	\$25,000.00	\$25,000.00	\$25,000.00	\$25,000.00
1010B*	Remove Existing Asphalt Concrete Pavement	900	SY	\$0.50	\$450.00	\$7.00	\$6,300.00
1040B	Removal of Raised Pavement Markers and Painted and/or Thermoplastic Traffic Markings	1	LS	\$1,000.00	\$1,000.00	\$500.00	\$500.00
1050B*	Saw Cut Existing Asphalt Concrete Pavement	1,600	LF	\$6.00	\$9,600.00	\$4.00	\$6,400.00
1075B*	Gravel Borrow, Including Haul and Compaction	650	TON	\$10.00	\$6,500.00	\$20.00	\$13,000.00
1080B*	Crushed Surfacing Top Course, 5/8 Inch Minus	100	TON	\$10.00	\$1,000.00	\$20.00	\$2,000.00
1085B*	Crushed Surfacing Base Course, 1-1/4 Inch Minus	300	TON	\$10.00	\$3,000.00	\$20.00	\$6,000.00
1095B*	HMA Class 3/4", PG 64-22	225	TON	\$85.00	\$19,125.00	\$80.00	\$18,000.00
1100B*	HMA Class 1/2" for Full Width Overlay, PG 64-22	400	TON	\$75.00	\$30,000.00	\$80.00	\$32,000.00
1110B*	Cold Planing Bituminous Pavement	400	SY	\$3.00	\$1,200.00	\$8.00	\$3,200.00
1220B	Adjust Existing Catch Basin, Storm Manhole or Sewer	M 2	EA	\$600.00	\$1,200.00	\$400.00	\$800.00
1230B	Adjust Existing Valve Box Top Section and Lid to Finis	she 7	EA	\$300.00	\$2,100.00	\$530.00	\$3,710.00
1315B*	Pothole Utilities	10	EA	\$800.00	\$8,000.00	\$500.00	\$5,000.00
	Sub Total - Schedule B: I Street				\$108,175.00		\$121,910.00
SCHEDUL	E B - III Sewer						
3004B	SDR 35 PVC Sewer Main, 8 Inch Diameter	375	LF	\$50.00	\$18,750.00	\$75.00	\$28,125.00
3006B	C900 PVC Sewer Main, 8 Inch Diameter	450	LF	\$55.00	\$24,750.00	\$80.00	\$36,000.00
3040B	Special Shallow Manhole	1	EA	\$3,000.00	\$3,000.00	\$2,500.00	\$2,500.00
3050B*	Manhole Under 12 Feet, Type 1 48 Inch Diameter	3	EA	\$4,000.00	\$12,000.00	\$3,250.00	\$9,750.00
3085B*	Locking Manhole Frame and Cover	4	EA	\$400.00	\$1,600.00	\$325.00	\$1,300.00
3100B*	Sewer Cleanout	1	EA	\$600.00	\$600.00	\$550.00	\$550.00
3115B*	Shoring or Extra Excavation, Class B	4,500	SF	\$1.00	\$4,500.00	\$0.50	\$2,250.00
3140B*	Crushed Surfacing Top Course, 5/8 Inch Minus	750	TON	\$10.00	\$7,500.00	\$20.00	\$15,000.00
	Sub Total - Schedule B: III Sewer				\$72,700.00		\$95,475.00
SCHEDU	E B - V TRAFFIC CONTROL						
	Traffic Control Labor	180	HR	\$50.00	\$9,000.00	\$40.00	\$7,200.00
5015B*	Traffic Control Supervisor	45	HR	\$60.00	\$2,700.00	\$45.00	\$2,025.00
					Ψ2,,00.00	Ψ 10.00	Ψ2,020.00

CITY OF H	CENT			11			
Schedule A: East Hill Operation Center Phase II BIG		BIDDER	'S	Westwater Construction Co.		ENGINEER'S ESTIMATE	
Schedule B: 124th Avenue SE Sewer NAM		NAME A	ND	31833 Kent Blad	ck Diamond Rd.	Garrett Inouye	
Schedule C: SE 248th Street Transmission Main		ADDRES	SS	Auburn, WA 98	1092		
BID OPE	NING: Tuesday, April 13, 2010						
		TOTAL			\$2,872,951.50		\$3,418,540.73
ITEM					TOTAL		TOTAL
NO.		JANTITY	UNIT	UNIT PRICE		UNIT PRICE	AMOUNT
5035B*	Sequential Arrow Sign (SAS)	15	DAY	\$50.00	\$750.00	\$70.00	\$1,050.00
5075B	Permanent Channelization	1	LS	\$4,000.00	\$4,000.00	\$2,500.00	\$2,500.00
	Sub Total - Schedule B: V Traffic Control				\$19,450.00		\$15,275.00
SCHEDU	LE B - VII TEMPORARY EROSION and SEDIMENT C	ONTROL					
7005B*		500	LF	\$14.00	\$7,000.00	\$7.00	\$3,500.00
7010B*	Straw Log Barrier	35	EA	\$100.00	\$3,500.00	\$75.00	\$2,625.00
7015B*	Inlet Protection	7	EA	\$100.00	\$700.00	\$125.00	\$875.00
7030B*	ESC Lead	120	HR	\$25.00	\$3,000.00	\$30.00	\$3,600.00
7055B	Erosion/Water Pollution Control	1	FA	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00
	Sub Total - Schedule B: VII TESC				\$16,700.00		\$13,100.00
SCHEDU	LE C - S. 248th Street Transmission Main					1	
COLLEDIA	50 L Charact						
1000C	LE C - I Street Mobilization	1	LS	\$25,000.00	¢2E 000 00	¢11E 000 00	¢11E 000 00
1010C*	Remove Existing Asphalt Concrete Pavement	2,000	SY	\$25,000.00	\$25,000.00 \$1,000.00	\$115,000.00 \$7.00	\$115,000.00 \$14,000.00
1010C	3 .		LS	\$3,000.00	\$3,000.00	\$2,500.00	\$2,500.00
1040C*	Removal of Raised Pavement Markers and Painted and/or Thermop	4,500	L5 LF	\$5,000.00	\$27,000.00	\$2,500.00	\$18,000.00
1030C	Saw Cut Existing Asphalt Concrete Pavement Geotextile Fabric, Non-Woven	500	SY	\$2.00	\$1,000.00	\$4.00	\$2,000.00
1070C*	Crushed Surfacing Top Course, 5/8 Inch Minus	200	TON	\$10.00	\$2,000.00	\$20.00	\$4,000.00
1085C*	Crushed Surfacing Base Course, 1-1/4 Inch Minus	600	TON	\$10.00	\$6,000.00	\$20.00	\$12,000.00
1095C*	HMA Class 3/4", PG 64-22	500	TON	\$85.00	\$42,500.00	\$80.00	\$40,000.00
1100C*	HMA Class 1/2" for Full Width Overlay, PG 64-22	1,000	TON	\$75.00	\$75,000.00	\$80.00	\$80,000.00
1110C*	Cold Planing Bituminous Pavement	900	SY	\$3.00	\$2,700.00	\$8.00	\$7,200.00
1125C	Cold Plant Mix for Temporary Pavement Patch	50	TON	\$100.00	\$5,000.00	\$100.00	\$5,000.00
1250C	Install New Monument, Case and Cover to Finished Gr		EA	\$800.00	\$3,200.00	\$500.00	\$2,000.00
1265C	Remove and Reinstall Wire Fence, with Chain Link Gat		LF	\$10.00	\$500.00	\$20.00	\$1,000.00
1315C*	Pothole Utilities	25	EA	\$800.00	\$20,000.00	\$500.00	\$12,500.00
	Sub Total - Schedule C: Street			,	\$213,900.00	,	\$315,200.00
SCHEDU	LE C - II Water						
2005C	8 Inch Connection to Existing Water Main	2	EA	\$10,000.00	\$20,000.00	\$2,500.00	\$5,000.00
2016C	18 Inch Connection to Existing Water Main	1	EA	\$20,000.00	\$20,000.00	\$10,000.00	\$10,000.00
2020C*	6 Inch Diameter Ductile Iron, CI 52 Water Main Pipe	25	LF	\$30.00	\$750.00	\$70.00	\$1,750.00
2021C	6 Inch Diameter Ductile Iron, CI 52 Restrained Joint W	'a [:] 75	LF	\$35.00	\$2,625.00	\$120.00	\$9,000.00
2034C	12 Inch Diameter Ductile Iron, CI 52 Restrained Joint V	N 50	LF	\$50.00	\$2,500.00	\$90.00	\$4,500.00
2035C*	12 Inch Diameter Ductile Iron, CI 52 Water Main Pipe	75	LF	\$45.00	\$3,375.00	\$85.00	\$6,375.00
2036C	16 Inch Diameter Ductile Iron, CI 52 Water Main Pipe	20	LF	\$80.00	\$1,600.00	\$90.00	\$1,800.00
2037C	18 Inch Diameter Ductile Iron, CI 52 Water Main Pipe	800	LF	\$100.00	\$80,000.00	\$95.00	\$76,000.00
2038C	20 Inch Diameter Ductile Iron, CI 52 Water Main Pipe	2,300	LF	\$120.00	\$276,000.00	\$100.00	\$230,000.00

сіту оғ к	ENIT			11		İ	
Schedule A: East Hill Operation Center Phase II			S	Westwater Construction Co.		ENGINEER'S ESTIMATE	
Schedule B: 124th Avenue SE Sewer						Garrett Inouye	
	C: SE 248th Street Transmission Main			Auburn, WA 98092		Carrett moaye	
	IING: Tuesday, April 13, 2010	ADDITES	.5	Addam, WA 70	072		
DID OI EI	Tuesday, April 15, 2010	TOTAL			\$2,872,951.50		\$3,418,540.73
ITEM					TOTAL		TOTAL
NO.	DESCRIPTION QUA	NTITY	UNIT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
2039C	20 Inch Diameter Ductile Iron CL 52 Restrained Joint W	950	LF	\$140.00	\$133,000.00	\$150.00	\$142,500.00
2040C*	4 Inch Gate Valve MJ x FL or MJ x MJ or FL x FL	1	EA	\$800.00	\$800.00	\$700.00	\$700.00
2041C*	6 Inch Gate Valve MJ x FL or MJ x MJ or FL x FL	5	EA	\$1,000.00	\$5,000.00	\$800.00	\$4,000.00
2045C*	8 Inch Gate Valve MJ x FL or MJ x MJ or FL x FL	1	EA	\$1,400.00	\$1,400.00	\$1,200.00	\$1,200.00
2050C*	10 Inch Gate Valve MJ x FL or MJ x MJ or FL x FL	4	EA	\$1,800.00	\$7,200.00	\$1,700.00	\$6,800.00
2055C*	12 Inch Gate Valve MJ x FL or MJ x MJ or FL x FL	7	EA	\$2,500.00	\$17,500.00	\$2,000.00	\$14,000.00
2056C	16 Inch Gate Valve MJ x FL or MJ x MJ or FL x FL	1	EA	\$8,000.00	\$8,000.00	\$6,000.00	\$6,000.00
2057C	16 Inch Butterfly Valve MJ x FL or MJ x MJ or FL x FL	2	EA	\$4,000.00	\$8,000.00	\$8,000.00	\$16,000.00
2080C*	Hydrant Assembly	2	EA	\$8,000.00	\$16,000.00	\$4,000.00	\$8,000.00
2087C	16 Inch Blowoff Assembly with 6 Inch Bypass Valve Ass	1	EA	\$30,000.00	\$30,000.00	\$25,000.00	\$25,000.00
2088C	6 Inch Bypass Valve Assembly	1	EA	\$35,000.00	\$35,000.00	\$15,000.00	\$15,000.00
2090C*	6 Inch Air Release Valve with Vault	1	EA	\$18,000.00	\$18,000.00	\$10,000.00	\$10,000.00
2091C	Remove Air Release Valve and Manhole	1	EA	\$1,000.00	\$1,000.00	\$10,000.00	\$10,000.00
2092C	Sediment Flush Assembly	2	EA	\$7,000.00	\$14,000.00	\$10,000.00	\$20,000.00
2094C	16 Inch Check Valve and Vault	1	EA	\$35,000.00	\$35,000.00	\$20,000.00	\$20,000.00
2100C	Remove Existing Fire Hydrant Assembly	1	EA	\$1,000.00	\$1,000.00	\$900.00	\$900.00
2115C	Abandon Existing 8 Inch Water Main	2	EA	\$1,000.00	\$2,000.00	\$5,000.00	\$10,000.00
2255C*	Shoring or Extra Excavation, Class B	30,000	SF	\$1.00	\$30,000.00	\$0.50	\$15,000.00
2280C*	Crushed Surfacing Top Course, 5/8 Inch Minus	1,800	TON	\$10.00	\$18,000.00	\$20.00	\$36,000.00
2290C*	Gravel Borrow, Including Haul and Compaction	5,500	TON	\$10.00	\$55,000.00	\$20.00	\$110,000.00
	Sub Total - Schedule C: II Water				\$842,750.00		\$815,525.00
SCHEDIII	E C - V Traffic Control						
5005C*	Traffic Control Labor	550	HR	\$50.00	\$27,500.00	\$40.00	\$22,000.00
5005C*	Traffic Control Supervisor	150	HR	\$60.00	\$9,000.00	\$45.00	\$6,750.00
5013C	Temporary Traffic Control Devices	1	LS	\$25,000.00	\$25,000.00	\$15,000.00	\$15,000.00
5020C 5030C		45	DAY	\$25,000.00	\$4,500.00	\$15,000.00	\$6,300.00
5035C*	Portable Changeable Message Sign (PCMS) Sequential Arrow Sign (SAS)	45 45	DAY	\$100.00	\$2,250.00	\$70.00	\$8,300.00
5035C	Permanent Channelization	1	LS	\$15,000.00	\$15,000.00	\$10,000.00	\$10,000.00
30730	Sub Total - Schedule C: V Traffic Control	'	LS	\$15,000.00	\$83,250.00	\$10,000.00	
	Sub rotal - Schedule C. V Traffic Control				\$63,250.00		\$63,200.00
SCHEDUL	E C - VII Temporary Erosion and Sedimentation Co	ntrol					
7005C*	Silt Fence	1,700	LF	\$14.00	\$23,800.00	\$7.00	\$11,900.00
7010C*	Straw Log Barrier	50	EA	\$100.00	\$5,000.00	\$75.00	\$3,750.00
7015C*	Inlet Protection	3	EA	\$100.00	\$300.00	\$125.00	\$375.00
7020C*	Straw Mulch - Hand Applied	500	SY	\$3.00	\$1,500.00	\$5.00	\$2,500.00
	ESC Lead	400	HR	\$25.00	\$10,000.00	\$30.00	\$12,000.00
7030C*	L3C Leau						
	Erosion/Water Pollution Control	1	FA	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00 \$40,525.00

CITY OF KENT			11		
Schedule A: East Hill Operation Center Phase II BIDDER'S		R'S	Westwater Cons	truction Co.	ENGINEER'S ESTIMATE
Schedule B: 124th Avenue SE Sewer	NAME A	AND	31833 Kent Blac	k Diamond Rd.	Garrett Inouye
Schedule C: SE 248th Street Transmission Main	ADDRE	SS	Auburn, WA 980)92	
BID OPENING: Tuesday, April 13, 2010					
	TOTAL			\$2,872,951.50	\$3,418,540.73
ITEM				TOTAL	TOTAL
NO. DESCRIPTION	QUANTITY	UNIT	UNIT PRICE	AMOUNT	UNIT PRICE AMOUNT
SUMMARY: Schedule A, B and C TOTALS					
SCHEDULE A - Kent East Hill Operation Center	er Phase II				
Schedule A - I Street				\$329,550.00	\$444,500.00
Schedule A - II Water				\$327,450.00	\$392,270.00
Schedule A - III Sewer				\$197,800.00	\$265,525.00
Schedule A - IV Storm Sewer				\$304,275.00	\$485,325.00
Schedule A - VII TESC				\$57,100.00	\$54,125.00
SCHDULE B 124th Avenue SE Sewer					
Schedule B - I Street				\$108,175.00	\$121,910.00
Schedule B - III Sewer				\$72,700.00	\$95,475.00
Schedule B - V Traffic Control				\$19,450.00	\$15,275.00
Schedule B - VII TESC				\$16,700.00	\$13,100.00
SCHEDULE C - S. 248th Transmission Main					
Schedule C - I Street				\$213,900.00	\$315,200.00
Schedule C - II Water				\$842,750.00	\$815,525.00
Schedule C - V Traffic Control				\$83,250.00	\$63,200.00
Schedule C - VII TESC				\$50,600.00	\$40,525.00
Sub total				\$2,623,700.00	\$3,121,955.00
9.5% sales tax				\$249,251.50	\$296,585.73
CONSTRUCTION CONTRACT TOTAL				\$2,872,951.50	\$3,418,540.73